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TNPSC GROUP I – 2020 
MODEL EXAMINATION - I 

 

1. Who has been appointed as the first CEO of WHO foundation? 
A. Soumiya Swaminathan  B. Anil Soni 
C. Rajachari    D. Tedros Adhnon 
cyf Rfhjhu mwf;fl;lisapd; Kjy; jiyik nray; mjpfhhpahf epakpf;fg;gl;lth; 
ahh;? 
A. nrskpah Rthkpehjd;  B. mdpy; Nrhdp 
C. uh[hrhhp    D. nll;Nuh]; mJdhd; 
 

2. Journey of a Civilization: Indus to Vaigai was authored by 
A. R. Balakrishnan   B. Romila Thappar   
C. Su. Venkatesan   D. R.D. Sharma 
Journey of a Civilization: Indus to Vaigai vd;w E}iy vOjpath; _________ 
A. R. ghyfpU~;zd;   B. nuhkpyh jhg;gh; 
C. Su. ntq;fNlrd;   D. R.D. rh;kh 
 

3. The Fifteenth Finance Commission (XVFC) led by Chairman N.K. Singh, on November 
9, 2020 submitted its Report for the period 
A. 2022-23 to 2026-27   B. 2021-22 to 2025-26 
C. 2020-21 to 2024-25   D. 2019-20 to 2023-24 
N.K. rpq; jiyikapyhd gjpide;jhtJ epjp Mizak; etk;gh; 9> 2020 md;W jdJ 
mwpf;ifia rkh;g;gpj;jJ. mjd; fhyk; __________ 
A. 2022-23 - 2026-27   B. 2021-22 - 2025-26 
C. 2020-21 - 2024-25   D. 2019-20 - 2023-24 
 

4. Consider the following battles and arrange these in chronological order 
1. Battle of Kannauj   2. Battle of Chanderi 
3. Battle of Talikota   4. Battle of Chausa 
Select the correct answer from the code given below 
A. 1, 2, 4, 3  B. 2, 4, 1, 3  C. 4, 2, 1, 3  D. 1, 4, 2, 3 
gpd;tUk; Nghh;fis fhythpirg;gLj;Jf 
1. fhNdh[; Nghh;  2. re;Njhp Nghh; 
3. jiyNfhl;il Nghh;  4. nrsrh Nghh; 
tpil Njh;f 
A. 1, 2, 4, 3  B. 2, 4, 1, 3  C. 4, 2, 1, 3  D. 1, 4, 2, 3 
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5. Who among the following was not the member of Nehru Committee? 
A. Ali Imam   B. Subash Chandra Bose 
C. Tej Bagadur Sapru  D. Abul Kalam Azad 
gpd;tUgth;fSs; NeU FOtpy; cWg;gpduy;yhjth; ahh;? 
A. myp ,khk;   B. Rgh~; re;jpu Ngh]; 
C. Nj[; gfJ}h; rhg;U  D. mGy; fyhk; Mrhj; 
 

6. Choose the incorrect pair 
i. Vanavan   –  Cheran 
ii. Sembiyan  - Cholan 
iii. Sezhiyan  - Pandian 
iv. Adhavan  - Pandian 
A. I and ii only  B. ii only  C. iii only  D. iv only 
jtwhd ,iziaj; Njh;e;njL. 
i. thdtd;  - Nrud; 
ii. nrk;gpad;  - Nrhod; 
iii. nropad;  - ghz;bad; 
iv. Mjtd;  - ghz;bad; 
A. i, ii kl;Lk;   B. ii kl;Lk;  C. iii kl;Lk;  D. iv kl;Lk; 

 
7. A pot of rice from which site proves that rice was people’s staple food during Iron 

Age? 
A. Adhichanallur B. Paiyampalli  C. Kodumanal  D. Porunthal 
,Uk;G fhyj;jpy; muprpNa kf;fspd; gpujhd czthf ,Ue;jJ vd;gij ve;j ,lj;jpy; 
fpilj;j muprpg; ghid cWjp nra;fpwJ? 
A. Mjpr;rey;Y}h; B. igak;gs;sp  C. nfhLkzy;  D. nghUe;jy; 

 
8. Vattezhuththu Script originated during _______ PerioD. 

A. Sangam Age B. Kalabhras  C. Pallavas  D. Imperial Chola 
tl;nlOj;J vOj;J tbtk; ahUila fhyj;jpy; Njhd;wpaJ? 
A. rq;ffhyk;  B. fsg;gpuh;fs;  C. gy;yth;fs;  D. Nrhog; NguuR 
 

9. Who organised Akharas and Lathi Clubs? 
A. Bagath Singh  B. Bala Gandhar Tilak 
C. Lala Lajpath Roy  D. Subash Chandra Bose 
mfuh]; kw;Wk; yj;jp fpsg;fis Vw;ghL nra;jth; ahh;? 
A. gfj;rpq;   B. ghy fq;fhju jpyfh; 
C. yhyh y[gjp uha;  D. Rgh~; re;jpu Ngh]; 
 

10. The First ‘Kisan Rail’ of India started its journey on 8th August, 2020 between which of 
the following two stations? 
A. Ghaziabad and Howrah 
B. Devlali (Maharastra) and Danapur (Bihar) 
C. Nasik and New Delhi 
D. Nasik and Ahmedabad 
tptrhapfSf;fhd Kjy; uapy; ,e;jpahtpy; 8 Mf];l; 2020 md;W ve;j ,U ,uapy; 
epiyaq;fSf;F ,ilNa Xlj;njhlq;fpaJ? 
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A. fhrpahghj; kw;Wk; mTuh 
B. Njt;yhyp (kfhuh~;buk;) kw;wk; jhdhg;g+h; (gPfhh;) 
C. ehrpf; kw;Wk; GJ jpy;yp 
D. ehrpf; kw;Wk; mfkjhghj; 
 

11. Match the following 
Product   Indian Manufacturers 
A. NVX – Cov2373  1. Cadila Healthcare Limited, Ahmedabad 
B. Covaxin    2. Genova, Pune 
C. ZyCoV – D   3. Serum Institute of India, Pune 
D. HGCO – 19   4. Bharat Biotech International Ltd, Hyderabad 
 a b c d 
A. 3 4 2 1 
B. 3 4 1 2 
C. 1 2 3 4 
D. 4 3 2 1 
 
nghUj;Jf 
jahhpg;G   ,e;jpa jahhpg;ghsh;fs; 
A. NVX – Cov2373  1. fhbyh n`y;j;Nfh; ypkpnll;> mfkjhghj; 
B. Covaxin    2. n[Ndhth> g+Nd 
C. ZyCoV – D   3. nrh;uk; ,d;];bba+l; Mg; ,e;jpah> g+Nd 
D. HGCO – 19   4. ghuj; gNahnlf; ,d;lh;Ne~;dy; ypkpnll;> i`juhghj; 
 a b c d 
A. 3 4 2 1 
B. 3 4 1 2 
C. 1 2 3 4 
D. 4 3 2 1 
 

12. Which of the following is the correct sequence of the different phases of mitotic 
division? 
1. Metaphase  2. Anaphase  3. Prophase  4. Telophase 
A. 1, 2, 3, 4  B. 1, 3, 2, 4  C. 3, 2, 1, 4  D. 3, 1, 2, 4 
ikl;lhbf; gFg;gpd; gy;NtW epiyfis rupahd tupirg;gb mikf;f. 
1. gFg;G epiy  2. gphp epiy  3. Kjy; epiy  4. ,Wjp epiy 
A. 1, 2, 3, 4  B. 1, 3, 2, 4  C. 3, 2, 1, 4  D. 3, 1, 2, 4 

 
13. Which one of the following cell organelles is responsible for cellular respiration? 

A. Endoplasmic reticulum   B. Golgi body 
C. Lysosome     D. Mitochondrium 
nry; Rthrpj;jYf;F fhuzkhd gpd;tUk; nry; cWg;G vJ? 
A. vz;Nlhgpsh];kpf; tiyg;gpd;dy;  B. Nfhy;if cWg;Gfs; 
C. iyNrhNrhk;     D. ikl;Nlhfhz;Bupah 

 
14. Which one of the following part of human brain is the regulating centre for salivation 

and vomiting? 
A. Cerebellum  B. Cerebrum  C. Medulla oblongata  D. Pons 
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gpd;tUk; %isapd; gFjpfspy; ckpo;ePh; Rug;gJ kw;Wk; the;jp vLg;gJ Nghd;wtw;iw 
xOq;FgLj;JtJ vJ? 
A. ngU%is  B. rpW%is  C. KFsk;  D. ghd;]; 

 
15. Choose the incorrect pair. 

A. Cretinism  -  Pituitary gland 
B. Myxoedema - Thyroid gland 
C. Chromosome 4 - Huntington’s disease 
D. Chromosome 21 - Sickle cell anaemia 
jtwhd ,iziaj; Njh;e;njL. 
A. fpupl;bdprk;  - gpl;A+l;lup Rug;gp 
B. kpf;rpbkh  - ijuha;L Rug;gp 
C. FNuhNkhNrhk; 4 - `z;bq;ld; Neha; 
D. FNuhNkhNrhk; 21 - fjph; mupths; ,uj;j Nrhif 

 
16. Match the following 

Discovery   Scientist 
A. Radioactivity  1. Issac Newton 
B. Relativity   2. Roentgen  
C. Gravitation   3. Henry Bacquerel 
D. X – rays   4. Albert Einstein 
 a b c d 
A. 3 1 2 4 
B. 3 4 1 2 
C. 1 3 4 2 
D. 2 4 1 3 
nghUj;Jf. 
fz;Lgpbg;G   mwptpay; mwpQh; 
A. fjpupaf;fk;   1. Irf; epA+l;ld; 
B. rhh;gpay; Nfhl;ghL  2. uhz;l;n[d; 
C. Gtp<u;g;Gtpir  3. n`d;wp ngf;Nfhuy; 
D. X - fjph;fs;   4. My;gh;l; Id;];bd; 
 a b c d 
A. 3 1 2 4 
B. 3 4 1 2 
C. 1 3 4 2 
D. 2 4 1 3 
 

17. Which of the following is not correctly matched? 
A. East Asia Summit, 2020 – Singapore 
B. G-20 Summit, 2019 – Osaka 
C. G-7 Summit, 2019 – Biarritz 
D. East Asia Summit, 2019 – Bangkok 
gpd;tUtdtw;wpy; jtwhd ,iziaf; fhz;f 
A. fpof;fhrpa khehL 2020 – rpq;fg;g+h; 
B. G20 khehL> 2019 – xrhf;fh 
C. G7 khehL> 2019 – gpahhpl;]; 
D. fpof;F Mrpa khehL> 2019 – ghq;fhf; 
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18. Match the following 
A. Movement of water and minerals from 
earth to leaves of plants through roots  1. Bernoulli’s principle 
B. Lift of an aeroplane during its flight  2. Capillary action  
C. Formation of a star in the universe  3. Surface tension 
D. Cleaning action of soap    4. Gravitational force 

a b c d 
A. 2 1 4 3 
B. 2 4 3 1 
C. 3 2 1 4 
D. 3 4 2 1 
nghUj;Jf. 
A. G+kpapYs;s ePh; kw;Wk; jhJf;fs; Nth; %ykhf  1. ngu;ndsyp jj;Jtk; 
jhtuj;jpd; ,iyfis Nehf;fp efu;tJ 
B. tpkhdk; gwf;Fk;NghJ caNu vOk;Gjy;  2. Ez;Jis Vw;wk; 
C. Nguz;lj;jpy; tpz;kPd;fspd; Njhw;wk;  3. gug;G ,Otpir 
D. Nrhg;gpd; J}a;ikahf;Fjy; epfo;T   4. <h;g;G tpir    

a b c d 
A. 2 1 4 3 
B. 2 4 3 1 
C. 3 2 1 4 
D. 3 4 2 1  

 

19. Find out the correct statements. 
1. Atom bomb is based upon the principle of uncontrolled nuclear fusion. 
2. Hydrogen bomb is based upon the principle of uncontrolled nuclear fission. 
3. Nuclear reactor is based upon the principle of controlled nuclear fission. 
A. 3 only  B. 1and 2 only  C. 2 and 3 only D. all the above 
rhpahd $w;Wfis fz;lwpf. 
1. mZFz;lhdJ fl;Lg;ghlw;w mZf;fU ,izT jj;Jtj;jpd; mbg;gilapy; 

nray;gLfpwJ. 
2. i`l;u[d; Fz;lhdJ fl;Lghlw;w mZf;fU gpsT jj;Jtj;jpd; mbg;gilapy; 

nray;gLfpwJ. 
3. mZ ciyahdJ fl;Lg;gLj;jg;gl;l mZf;fU gpsT jj;Jtj;jpd; mbg;gilapy; 

nray;gLfpwJ. 
A. 3 kl;Lk;  B. 1, 2 kl;Lk;  C. 2, 3 kl;Lk; D. Nkw;fz;l midj;Jk; 
 

20. The correct sequence of various regions in absorption of spectrum is: 
A. Visible, Ultraviolet, Microwave, Infrared 
B. Infrared, Gamma rays, Ultraviolet, Microwave 
C. Ultra violet, Visible, Infrared, Microwave 
D. Microwave, Visible, Infrared, X-rays 
epwkhiyia cwpQ;Rjypy; gpd;tUk; mLf;Ffis rhpahd thpirapy; mikf;f. 
A. fz;ZW xsp> GwCjhf;fjph;> ikf;Nuh miy> mfr;rptg;G fjph; 
B. mfr;rptg;Gfjph;> fhkh fjph;fs;> GwCjhf;fjph;> ikf;Nuh miy 
C. GwCjhf;fjph;> fz;ZW xsp> mfr;rptg;Gfjph;> ikf;Nuh miy 
D. ikf;Nuh miy> fz;ZW xsp> mfr;rptg;Gfjph;> X - fjph;fs; 
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21. Choose the correct statements 
1. Global Vaccine summit on 4th June, 2020 – UK 
2. Youngest Mountain range of India – Himadri 
3. The Height of Mount Everest – 8848.86 metres 
A. 1, 3 only  B. 1, 2 only  C. 3 only D. All of these 
rhpahd $w;Wfis fz;lwpf 
1. cyf jLg;g+rp khehL 4 [{d;> 2020 - ,q;fpyhe;J 
2. ,e;jpahtpd; ,isa kiyj;njhlh; - ,khj;hp 
3. vtnu];l; kiyapd; cauk; - 8848.86 kP 
A. 1> 3 kl;Lk;  B. 1> 2 kl;Lk;  C. 3 kl;Lk; D. ,it midj;Jk; 
 

22. Which among the following became the first Arab Nation to launch the Mars Mission 
in July 2020? 
A. Saudi Arabia  B. Kuwait C. United Arab Emirates D. Qatar 
gpd;tUtdtw;Ws; nrt;tha; fpuf jpl;lj;ij [{iy 2020,y; njhlq;fpa Kjy; muG ehL 
vJ? 
A. nrsjp mNugpah  B. Fitj; C. If;fpa muG ehLfs; D. fj;jhh; 
 

23. Consider the following statements 
1. Tamilnadu is the number one state in inclusive development  
2. Tamilnadu is the leader in the fight against COVID 19 and ranked second in 

COVID Management 
3. Under the per capita income the state moved from 12th place in the previous year 

to 6th place 
A. 1, 3 only correct  B. 1, 2 only correct 
C. 3 only correct  D. All are correct 

 gpd;tUk; $w;Wfis Ma;f 
1. cs;slf;fpa tsh;r;rpapy; jkpo;ehL Kjy; khepykhf jpfo;fpwJ 
2. Nfhtpl; 19Df;F vjpuhf NghuhLtjpy; jkpo;ehL Kjd;ikahfTk; Nfhtpl; 

Nkyhz;ikapy; jkpo;ehL ,uz;lhtJ ,lj;jpYk; cs;sJ 
3. jdpegh; tUkhdj;jpy; Ke;ija Mz;L 12tJ ,lj;jpy; ,Ue;J 6tJ ,lj;jpw;F 

jkpo;ehL Kd;NdwpAs;sJ 
A. 1> 3 kl;Lk; rhp  B. 1> 2 kl;Lk; rhp 
C. 3 kl;Lk; rhp  D. ,it midj;Jk; rhp 
 

24. Of the following which are the correctly matched pairs? 
i. Nannool “Ulagam Enpathu Uyarthor Metrey”. 
ii. Kalithogai “Panpenapaduvathu Paadaruntha Uzhuguthal”. 
iii. Thirukural: “Panpudaiyaar Pattundu Ulagam” 
A. i, ii, iii  B. i, ii  C. ii, iii   D. i, iii 
gpd;tUtdtw;Ws; rupahd ,izfs; vit? 
i. ed;D}y; - “cyfk; vd;gJ cau;e;Njhu; Nkw;Nw” 
ii. fypj;njhif – “gz;ngdg;gLtJ ghlwpe;J xOFjy;” 
iii. jpUf;Fws; - “gz;G cilahu;g; gl;Lcz;L cyfk;”. 
A. i, ii, iii  B. i, ii  C. ii, iii   D. i, iii 

  

25. Which among the following Tamil works on grammar helps us to know the ancient 
nature of Tamil culture? 
A. Ahathiam  B. Tholkappiam C. Nannool D. Veera Chozhiam 
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jkpofg; gz;ghl;bd; njhd;ikia mwpe;Jnfhs;tjw;Fg; ngupJk; Jizahf cs;s 
,yf;fz E}y; vJ? 
A. mfj;jpak;  B. njhy;fhg;gpak; C. ed;D}y;  D. tPuNrhopak; 
 

26. Which of the following in the Indian Constitution is an incorporation of the 
‘Instrument of Instructions’ of the Government of India Act, 1935? 
A. Amendment of the Constitution   B. Fundamental Rights 
C. Directive Principles of State Policy  D. Fundamental Duties 
,e;jpa muRr; rl;lk; 1935 ,d; %yk; ,e;jpa murpayikg;gpy; mwpTWj;Jk; fUtpahf’ 
,izf;fg;gl;lJ vJ? 
A. murpayikg;G rl;lj;jpUj;jk;   B. mbg;gil chpikfs; 
C. murpd; topfhl;L newpKiwfs;   D. mbg;gil flikfs; 

 
27. The 9th Schedule of the Indian Constitution was added during the Prime ministership 

of  
A. Morarji Desai   B. Indira Gandhi 
C. Lal Bahadur Shastri  D. Jawaharlal Nehru 
,e;jpa murpayikg;gpd; 9 tJ ml;ltiz ahh; gpujk ke;jpupahf ,Ue;j fhyj;jpy; 
Nrh;f;fg;gl;lJ? 
A. nkhuh[p Njrha;   B. ,e;jpuh fhe;jp 
C. yhy; gfJ}h; rh];jphp  D. [t`u;yhy; NeU 

 
28. ________ is not a formally prescribed device available to the members of Parliament. 

A. Zero Hour   B. Half-an-hour discussion 
C. Question Hour  D. Short duration discussion 
ghuhSkd;w cWg;gpdh;fSf;F fpilf;ff;$ba Kiwahf ghpe;Jiuf;fg;glhj fUtp ____. 
A. g+[;[pa Neuk;  B. miukzp Neu fye;Jiuahly; 
C. Nfs;tp Neuk;  D. FWfpa fhy fye;Jiuahly; 

 

29. Choose the incorrect pair. 
A. Article 15 – Prohibition of Discrimination 
B. Article 19 – Right to Association 
C. Article 20 – Right to Protection of Life 
D. Article 32  - Right to Constitutional Remedies 
jtwhd ,iziaf; fhz;f. 
A. ruj;J 15 - ghFghLfis jLj;jy; 
B. ruj;J 19 – rq;fk; mikf;f chpik 
C. ruj;J 20 – tho;it ghJfhf;Fk; chpik 
D. ruj;J 32 – murikg;G rl;l ghpfhu chpikfs; 
 

30. Match the following 
a. Pathitru Pathu   1. The Cholas 
b. Pattina Paalai   2. The Cheras 
c. Madurai Kaanchi, Paripaadal 3. The Pandiyas 

  a b c 
 A. 1 2 3 
 B. 2 3 1 
 C. 3 1 2 
 D. 2 1 3 
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nghUj;Jf. 
a. gjpw;Wg;gj;J    1. Nrhou;fs; 
b. gl;bdg;ghiy   2. Nruu;fs; 
c. kJiuf;fhQ;rp> gupghly;  3. ghz;bau;fs; 
 a b c 
A. 1 2 3 
B. 2 3 1 
C. 3 1 2 
D. 2 1 3 
 

31. Match the following 
a. Kolsai  1. Puduchery 
b. Nigaama  2. Marakaanam 
c. Kamara  3. Kaveripoompatnam 
d. Pothugay  4. Korkai 
e. Sopatma  5. Nagapattinam 
 a b c d e 
A. 2 1 4 3 5 
B. 3 2 5 1 4 
C. 5 3 1 2 4 
D. 4 5 3 1 2 
nghUj;Jf. 
a. nfhy;rha;  1. GJr;Nrup 
b. epfhkh  2. kuf;fhzk; 
c. fkuh   3. fhtpupg;G+k;gl;bdk; 
d. nghJNf  4. nfhw;if 
e. Nrhgl;kh  5. ehfg;gl;bdk; 
 a b c d e 
A. 2 1 4 3 5 
B. 3 2 5 1 4 
C. 5 3 1 2 4 
D. 4 5 3 1 2 

 

32. Which among the following documents and copper plates pertain to the period of the 
Pandya kings. 
i. Velvikudi Paltayam (Plates) 
ii. Dhalavaipura Copper Plates 
iii. Chinnamanur document 
iv. Karanthai Copper Plates 
v. Sivakasi Copper Plates 
A. i, ii, v  B. iii, iv, v  C. i, ii, iii, v  D. all correct 
gpd;tUtdtw;Ws; ghz;bau;fhyg; gl;laq;fs; vit? 
i. Nts;tpf;Fbg; gl;lak; 
ii. jstha;Gur; nrg;NgL 
iii. rpd;dkD}u;r; rhrdk; 
iv. fue;ijr; nrg;NgLfs; 
v. rptfhrpr; nrg;NgLfs; 
A. i, ii, v  B. iii, iv, v  C. i, ii, iii, v  D.  midj;Jk; rup 
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33. Who among the followings released golden coins minted with his name inscribed in 
Grantha script? 
A. Thalaiyaalankaanathu Cheru Venra Pandian Nedunchezhian 
B. Pandian Arivudai Nambi 
C. Varagunan II 
D. Arimarthana Pandian 
fpue;j vOj;jpy; jd;Dila ngau; nghwpf;fg;gl;l jq;f ehzaq;fis ntspapl;l kd;dd;? 
A. jiyahsq;fhdj;Jr; nrW ntd;w ghz;bad; neLQ;nropad; 
B. ghz;bad; mwpTilek;gp 
C. ,uz;lhk; tuFzd;  
D. mupku;j;jdg; ghz;bad; 

 
34. Which of the following Sangam works has the line ‘Vinaye Aadavarku Uyiray’ (work 

is the life for men) 
A. Puranaanooru B. Ahanaanooru C. Kurunthohai D. Ainkurunooru 
“tpidNa Mltu;f;F capNu” vd;w tupfs; ,lk;ngw;Ws;s E}y;? 
A. GwehD}W  B. mfehD}W  C. FWe;njhif  D. Iq;FEW}W 
 

35. Where is the big excavation made in Tamilnadu next to the archaeological site at 
Adichanallur? 
A. Arickamedu   B. Kodumalai 
C. Keeladi    D. Athirampakkam 
Mjpr;rey;Y}u; njhy;ypay; fsj;Jf;F mLj;J> ,e;jpaj; njhy;ypay; Ma;T epWtdj;jhy; 
jkpo;ehl;by; Nkw;nfhs;sg;gLk; ngupa mstpyhd mfoha;T? 
A. mupf;fNkL    B. nfhLkiy  
C. fPob    D. mj;jpuk;ghf;fk; 

 
36. Thirumagal's mother wears a bracelet made of 35 red beads and 30 blue beads. 

Thirumagal wants to make smaller bracelets using the same two-coloured beads in the 
same ratio. In how many different ways can she make the bracelets? 
A. 1   B. 3   C. 4   D. 2  
jpUkfspd; jha; 35 rptg;G kzpfs; kw;Wk; 30 ePy kzpfisf; nfhz;l iff;fhg;G 
mzpe;jpUf;fpwhh;. jpUkfs; mNj tpfpjj;jpy; rpwpa iff;fhg;ig mNj ,U tz;z 
kzpfisg; gad;gLj;jpr; nra;a tpUk;Gfpwhs;. mtshy; vj;jid ntt;NtW topfspy; 
iff;fhg;Gfisr; nra;a ,aYk;?  
A. 1   B. 3   C. 4   D. 2  
 

37. Priyanka took a loan of Rs. 10000 from a landlord at 20% of simple interest. She paid 
Rs 5000 at the end of the 2nd year. How much money she should pay at the end of the 
5th year to close the debt?  
A. Rs. 14000  B. Rs. 10000   C. Rs. 12000  D. none of these   
gphpaq;fh vd;gth; &10000 I fldhf 20% jdptl;bapy; ngw;whh;. ,U tUlq;fSf;F 
gpwF &5000I nrYj;jpdhh;. Ie;J tUl Kbtpy; flid fl;b Kbg;gjw;F vt;tsT 
njhifia nrYj;j Ntz;Lk;?  
A. Rs. 14000  B. Rs. 10000   C. Rs. 12000  D. ,it vJTkpy;iy  
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38. There are 800 soldiers in an army camp. There is enough provisions for them for 60 
days. If 400 more soldiers join the camp, for how many days will the provisions last?  

 A. 120   B. 60   C. 80   D. 40  
xU uhZt Kfhkpy; 800 tPuh;fs; ,Uf;fpwhh;fs;. mth;fSf;F 60 ehl;fSf;F NghJkhd 
kspif rhkhd;fs; cs;sD. me;j Kfhkpw;F NkYk; 400 tPuh;fs; te;J Nrh;e;jdh; vdpy; 
vj;jid ehl;fSf;F me;j kspif rhkhd;fs; NghJkhdjhf ,Uf;Fk;?  

 A. 120   B. 60   C. 80   D. 40  
  
39. Sara baked cakes for the school festival. The cost of one cake was Rs. 55. she sold 25 

cakes and made a profit Rs 11 on each cake. find the profit percent  
A. 30%   B. 25%  C. 20%   D. 40%  
xU gs;sp tpohtpw;fhf rhuh> Nff; nra;jhs;. xU Nff;fpd; mlf;f tpiy &55. rhuh 25 
Nff;Ffis tpw;W xt;nthU Nff;fpYk; &11 ,yhgk; mile;jhs; vdpy; ,yhg 
rjtPjj;ij fhz;f.  
A. 30%   B. 25%  C. 20%   D. 40%  
 

40. A window is in the form of trapezium whose parallel sides are 105 cm, 50 cm 
respectively and the distance between the parallel sides is 60 cm. find the cost of the 
glass used to cover the window at rate of Rs.15 per 100 sq.cm.  
A. Rs. 667.5   B. Rs. 727.5  C. Rs. 697.5  D. Rs. 637.5  
xU [d;dyhdJ rhptftbtpy; mike;Js;sJ. mjd; ,izg;gf;fq;fs; 105 nr.kP kw;Wk; 
50 nr.kP MFk;. mjd; ,izg;gf;fq;fSf;F ,ilNa cs;s njhiyT 60 nr.kP vdpy;> 
me;j [d;dYf;F 100 r.nr.kPf;F & 15 tPjk; fz;zhb mikf;f MFk; nkhj;j nryT.  
A. Rs. 667.5   B. Rs. 727.5  C. Rs. 697.5  D. Rs. 637.5  

 
41. One nibble is equal to 

A. 4 bits  B. 4 bytes  C. 8 bytes  D. 8 kilo bytes 
xU nibble vd;gJ vjw;F rkkhFk;? 
A. 4 gpl;];  B. 4 igl;];  C. 8 igl;];  D. 8 fpNy igl;]; 

 
42. “O Noble People! If it is the duty of the noble to treat the adversity of others as their 

own and be righteous” – these lines belongs to _________ 

A. Madurai Kanchi B. Kalithogai  C. Natrinai  D. Purananuru 
“gpwu;NehAk; jk;Neha;Nghy; Nghw;wp mwd; mwpjy; rhd;wtu;f;F vy;yhk; fld;” 
-vd;w ghly;tupfs; ,lk;ngw;Ws;s E}y;? 
A. kJiuf; fhQ;rp B. fypj;njhif  C. ew;wpiz  D. GwehD}W 

  
43. Even if you do not do-good deeds, avoid  

Doing bad ones 
These lines are from  
A. Thirukural  B. Naladiyar  C. Natrinai  D. Purananuru 
“ey;yJ nra;jy; Mw;wPu; MapDk; 
my;yJ nra;jy; Xk;Gkpd;” 
vd;w ghly;tupfs; ,lk;ngw;Ws;s E}y; vJ? 
A. jpUf;Fws;  B. ehybahu;  C. ew;wpiz  D. GwehD}W 

  
44. With smiling face he entertains each virtuous guest, 

'Fortune' with gladsome mind shall in his dwelling rest 
According to Thiruvalluvar what is the primary quality for a family man? 
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A. Hospitality     B. Respecting the elders 
C. Friendly to neighbours   D. Not Doing Evil 
“mfd; mku;e;J nra;ahs; ciwAk; Kfd;mku;e;J  
ey;tpUe;J Xk;Gthd; ,y;”. 
-,f;Fwspy; jpUts;Stu; ,y;ywj;jhu;f;F Kjd;ikahd gz;ngdf; Fwpg;gpLtJ? 
A. tpUe;Njhk;gy;    B. ngupNahiu kjpj;jy; 
C. Rw;wj;jhUldhd el;G   D. ,d;dh nra;ahik 

 
45. The learned make each land their own, in every city find a home; 

Who, till they die; learn nought, along what weary ways they roam!. 
The above couplet refers to ___________ 

 A. Learned people   B. Unlearned people 
 C. Jealous people   D. One who follows Guru 

“ahjhDk; ehlhky; Cuhky; vd;xUtd; 
rhe;JizAk; fy;yhj thW”. 
Nkw;fz;l Fwspy; ahiug; gw;wp ts;Stu; Fwpg;gpl;Ls;shu;? 
A. fy;tp fw;wtu;   B. fy;yhjtu; 
C. nghwhik cilNahu;  D. FUit gpd;gw;Wk; khztd; 

 
46. Indian navy launched Operation Vanila in which of the following country? 

A. Maldives  B. Oman C. Madagascar D. Sri Lanka 
,e;jpa flw;gil MgNurd; thdpyhit gpd;tUk; ve;j ehl;bw;fhf njhlq;fpaJ? 
A. khyj;jPTfs; B. Xkd; C. klfh];fh;  D. ,yq;if 

 
47. To men of envious heart, when comes increase of joy, 

Or loss to blameless men, the 'why' will thoughtful hearts employ. 
By this couplet Thiruvalluvar conveys _________ 
A. Wealth of righteous people  B. Wealth of unrighteous people 
C. Nature of Deceivers   D. Ways of accumulating wealth 
“mt;tpa neQ;rj;jhd; Mf;fKk; nrt;tpahd; 
NfLk; epidf;fg; gLk;”. 
vd;w Fwspy; ts;Stu; vLj;Jiug;gJ? 
A. rhd;Nwhu;fsplk; NrUk; nry;tk;  B. jtwhd ,lj;jpy; NrUk; nry;tk; 
C. tQ;rfu;fspd; ,ay;G   D. nry;tj;ij Nru;f;Fk; topfs; 

 
48. Name the work which says ‘Righteousness will stay for ever but not life’? 

A. Kundalakesi B. Valaiyapathi  
C. Manimegalai D. Seevagasindhamani  
tho;f;if epiyapy;yhjJ> mwk; xd;Nw epiyj;J epw;Fk; vd;gij czu;j;Jk; E}y;? 
A. Fz;lyNfrp  B. tisahgjp   
C. kzpNkfiy  D. rPtf rpe;jhkzp 

  
49. Name the epic which belongs to the period of Cholas? 

A. Periyapuranam  B. Kambaramayanam 
C. Mananool   D. Yasodhara Kaviyam 
Nrhog;NguuR vOr;rpngw;w fhyj;jpy; Njhd;wpa fhg;gpak; vJ? 
A. ngupaGuhzk;  B. fk;guhkazk; 
C. kzE}y;   D. aNrhju fhtpak; 
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50. Choose the incorrect statement. 
A. Hail generally forms within the Cumulonimbus clouds. 
B. Nansei Trench is the deepest point of Indian Ocean. 
C. Peruvian Current is known as Humboldt current. 
D. Harmattan is known as ‘The Doctor’ wind. 
jtwhd $w;iwj; Njh;e;njL. 
A. fy;khhp kio fhh;jpus; Nkfq;fspy; cUthfpd;wD. 
B. ed;Nra; mfop ,e;jpag; ngUq;flypd; kpf Mokhd gFjpahFk;. 
C. ngUtpad; ePNuhl;lk; MdJ `k;Nghy;l; ePNuhl;lk; vdTk; mwpag;gLfpwJ. 
D. `hh;kj;jhd; “kUj;Jth; fhw;W” vd;wiof;fg;gLfpwJ. 

 
51. Choose the incorrect pair of Main River with its tributary. 

A. Godavari  - Sabari 
B. Kaveri  - Amaravati 
C. Krishna  - Koyna 
D. Mahanadhi  - Jawai 
Kf;fpa MWfs; kw;Wk; mjd; JizahWfs; njhlh;ghd jtwhd ,iziaf; fhz;f: 
A. Nfhjhthp  - rghp 
B. fhtphp  - mkuhtjp 
C. fpU~;zh  - nfha;dh 
D. kfhejp  - [tha; 

 
52. Which of the following is not a biosphere reserve? 

A. Manas B. Ranthambore  C. Nokrek  D. Panchmarhi 
gpd;tUtdtw;Ws; vJ caph;f;Nfhs fhg;gfk; my;y? 
A. khdh]; B. uhe;jk;Nghh;   C. Nehf;nuf;  D. gr;khhp 

 
53. Which one of the following leaders of the Congress was totally in favour of Cabinet 

Mission plan? 
A. Mahatma Gandhi  B. Jawaharlal Nehru 
C. Sardar Patel  D. Maulana Abul Kalam Azad 
fPo;f;fz;l fhq;fpu]; jiyth;fspy; ahh; fhgpdl; J}J FOjpl;lj;jpw;F Mjuthf 
,Ue;jhh;?  
A. kfhj;kh fhe;jp  B. [t`h;yhy; NeU 
C. rh;jhh; gNly;  D. kTyhdh mGy; fyhk; M]hj;  
 

54. Arrange the following states in the descending order of density of Population 
according to 2011 Census. 
1. Kerala  2. Punjab 3. Tamil Nadu  4. Uttar Pradesh 
A. 1,4,2,3  B. 1,4,3,2  3. 4,1,3,2   D. 4,1,2,3 
2011 kf;fs;njhif fzf;nfLg;gpd;gb> kf;fs;njhif mlh;j;jpapd; mbg;gilapy; 
gpd;tUk; khepyq;fis ,wq;F thpirapy; mikf;f. 
1. Nfush  2. gQ;rhg; 3. jkpo;ehL  4. cj;jpug; gpuNjrk; 
A. 1,4,2,3  B. 1,4,3,2  3. 4,1,3,2   D. 4,1,2,3 

 

55. The number of marginal farmers is highest in  
A. Andhra Pradesh B. Tamil Nadu  C. Uttar Pradesh D. West Bengal 
FW tptrhapfspd; vz;zpf;if vq;F mjpfkhf cs;sJ? 
A. Me;jpugpuNjrk; B. jkpo;ehL  C. cj;jpugpuNjrk; D. Nkw;F tq;fhsk; 
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56. Which is the first Rock cut temple of Early Pandyas? 
A. Mandagapattu  B. Thiruparankundram  
C. Pillaiyarpatti  D. Kazhugu Malai  
Kw;fhyg; ghz;bau;fs; mikj;j Kjy; Filtiuf;Nfhtpy;? 
A. kz;lfg;gl;L  B. jpUg;guq;Fd;wk;   
C. gps;isahu;gl;b  D. fOFkiy 

 
57. Elevated Gopurams started to emerge during the period of  

A. Krishnadevaraya  B. Mahendravarman I 
C. Rajaraja Chola  D. Rajendra Chola 
ahUila Ml;rpf;fhyj;jpy; kpf cau;e;j NfhGuq;fs; fl;lj; njhlq;fg;gl;lJ? 
A. fpU~;zNjtuhau;  B. Kjyhk; kNfe;jputu;kd; 
C. ,uh[uh[Nrhod;  D. ,uhN[e;jpu Nrhod; 

 
58. Which one of the following is an example of Rock cut architecture of Pandyas? 

A. Ajantha of South India  B. Pillaiyarpatti 
C. Thiruparankundram  D. Ellora of South India 
ghz;bauJ xw;iwf; fw;wspf;Fr; rhd;whfj; jpfo;tJ? 
A. njd;dfj;jpd; m[e;jh  B. gps;isahu;gl;b 
C. jpUg;guq;Fd;wk;   D. njd;dfj;jpd; vy;Nyhuh 

 
59. Whose age is called as Golden Age of Tamil Architecture? 

A. Pallavas    B. Later Cholas 
C. Later Pandyas   D. Vijayanagar Era 
ve;j kd;du;fspd; Ml;rpf;fhyk; jkpoff; fl;llf;fiy tuyhw;wpy; nghw;fhykhfg; 
Nghw;wg;gLfpd;wJ? 
A. gy;ytu;fs; fhyk;   B. gpw;fhyr; Nrhou; fhyk; 
C. gpw;fhyg; ghz;bau; fhyk;  D. tp[aefu kd;du;fs; fhyk; 

 
60. Consider the following statements. 

Assertion (A): In 1916, Maulana Mohammed Ali, Abul Kalam Azad resigned from the 
Legislative Council. 
Reason (R): The Rowlatt Act was passed by the government in spite of being opposed 
by all Indian members of the Legislative Council. 
A. Both ‘A’ and ‘R’ are individually true and ‘R’ is the correct explanation of ‘A’. 
B. Both ‘A’ and ‘R’ are individually true but ‘R’ is not the correct explanation of ‘A’. 
C. ‘A’ is true, but ‘R’ is false. 
D. ‘A’ is false, but ‘R’ is true. 
gpd;tUtdtw;iw Ma;f. 
$w;W (A):1916y; kTyhdh Kfk;kJ myp mg;Jy; fyhk; Mrhj; kf;fs; gpujpejp 
FOtpypUe;J tpyfy; 
fhuzk; (R): kf;fs; gpujpepjpj;Jt FOtpy; ut;yl; rl;lj;ij epiwNtw;w fLk; vjph;g;G 
njhptpj;j NghjpYk; ut;yl; rl;lk; epiwNtw;wg;gl;lJ 
A. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk;. 
B. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk; 

my;y 
C. (A) rup> Mdhy; (R) jtW 
D. (A) jtW> Mdhy; (R) rup 
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61. Match the following 

A. Narthamalai Temple  1. Parandhaga Chola 
B. Brammapuriswara Temple  2. Kulothunga III 
C. Bragadeeswara Temple  3. Rajaraja Chola I 
D. Gangai Konda Cholapuram 4. Rajendra Chola I 
E. Gambagareswara Temple  5. Vijayalaya Chola 
 A B C D E 
A. 1 2 3 4 5 
B. 2 1 3 4 5 
C. 5 1 3 4 2 
D. 2 5 3 4 1 
nghUj;Jf. 
A. ehu;j;jhkiyf; Nfhtpy;  1. guhe;jfr; Nrhod; 
B. gpuk;kGuPRtuu; Nfhtpy;  2. %d;whk; FNyhj;Jq;f Nrhod; 
C. gpufjP];tuh; Nfhapy;  3. Kjyhk; ,uh[uh[ Nrhod; 
D. fq;if nfhz;l NrhoGuk;  4. Kjyhk; ,uhN[e;jpu Nrhod; 
E. fk;gfNuRtuu; Nfhtpy;  5. tp[ahya Nrhod; 
 A B C D E 
A. 1 2 3 4 5 
B. 2 1 3 4 5 
C. 5 1 3 4 2 
D. 2 5 3 4 1 

 
62. India opted for ‘Mixed Economy’ in 

A. Planning Advisory Board  B. Bombay Plan 
C. Industrial Policy of 1948  D. Second Five Year Plan 
,e;jpah vg;NghJ fyg;G nghUshjhuj;ij Njh;e;njLj;jJ 
A. jpl;l MNyhrid thhpak;  B. gk;gha; jpl;lk; 
C. 1948Mk; Mz;L njhopw;nfhs;if D. ,uz;lhtJ Ie;jhz;L jpl;lk; 

 
63. The ‘Slack Season’ in the Indian Economy is  

A. March – April  B. September – December 
C. January – June  D. February – April 
,e;jpa nghUshjhuj;jpd; ‘ke;j fhyk;’ 
A. khh;r; - Vg;uy;  B. nrg;lk;gh; - brk;gh; 
C. [dthp – [{d;  D. gpg;uthp – Vg;uy; 

 
64. Temporary tax levied to obtain additional revenue is called 

A. Cess   B. Rate  C. Fee   D. Surcharge 
$Ljy; tUtha;f;fhf Nghlg;gLk; jw;fhypf thp  
A. nr]; (thpf;F thp)  B. tpiy C. fl;lzk;  D. $Ljy; fl;lzk; 

 
65. Consider the following statements. 

I. Tamil Nadu is the most urbanized state in India. 
II. In FDI, Tamil Nadu ranks third at national level in 2010-2014 period. 
A. I only correct B. II only correct C. Both are correct D. Both are wrong 
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gpd;tUk; $w;Wfis Ma;f. 
I. jkpo;ehL ,e;jpa mstpy; efukakhjypy; Kjy; ,lj;jpy; cs;sJ. 
II. me;epa Neub KjyPLfis <h;g;gjpy; Njrpa mstpy; 2010 – 2014 fhy 

fl;lq;fspy; jkpo;ehL %d;whkplk; tfpj;jJ. 
A. I kl;Lk; rhp  B. II kl;Lk; rhp  C. ,uz;Lk; rhp  D. ,uz;Lk;; jtW 

 

66. Consider the following statements.  
I. In 1885, Madras Presidency government declared financial assistance policies 

for downtrodden Communities 
II. Tremancre, Collector of Chengelpet submitted report on downtrodden 

Communities. 
III. In 1892, 12 lakh acres of land were distributed to lower Caste Groups. 
IV. These lands are called as Panchami lands. 
A. I and II are correct   B. I, II and III are correct  
C. II, III and IV are correct  D. All are correct 
gpd;tUk; $w;Wfis Ma;f. 
I. 1885 Mk; Mz;L kjuh]; khfhzj;jpy; xLf;fg;gl;l r%f kf;fSf;F epjp cjtp 

nfhs;if mwptpf;fg;gl;lJ. 
II. nrq;fy;gl;L Ml;rpah; l;upkd;fh; xLf;fg;gl;l r%fk; gw;wpa mwpf;ifia jhf;fy; 

nra;jhh;. 
III. 1892 ,y; Rkhh; 12 ,yl;rk; Vf;fh; epyq;fs; fPo;kl;l gphptpdUf;F gpupj;Jf; 

nfhLf;fg;gl;lJ. 
IV. ,e;j epyq;fs; gQ;rkp epyq;fs; vd;wiof;fg;gl;lD. 
A. I, II rhp  B. I, II, III rhp  C. II, III, IV rhp  D. midj;Jk; rhp 
 

67. The Constitution of India recognizes 
A. only religious minorities   B. only linguistic minorities 
C. religious and linguistic minorities  D. religious, linguistic and ethnic 
minorities 
,e;jpa murpayikg;G vij Vw;Wf;nfhs;fpwJ. 
A. rka rpWghd;ik kl;Lk;   B. nkhop rpWghd;ik kl;Lk; 
C. rka kw;Wk; nkhop rpWghd;ik  D. rka> nkhop kw;Wk; ,drpWghd;ik 

 

68. “If fair representation is not provided for our people.  We will not pay taxes” – said 
by? 
A. Periyar  B. Dr. C. Natesan C. T. M. Nair    D. P. T. Thiyagarayar 
“vq;fs; kf;fSf;F rhpahd Kiwapy; gpujpepjpj;Jtk; mspf;fg;gltpy;iynadpy; ehq;fs; 
thp nrYj;j khl;Nlhk;” vdf; $wpath;? 
A. nghpahh;  B. Dr.C. eNlrd; C. T.M. ehah;   D. P.T. jpahfuhah; 

 

69. Which of the following Amendment Act related to reservation policy? 
I. 1st   Amendment Act II. 76th Amendment Act III. 77th Amendment Act 
IV. 81th Amendment Act V. 85th Amendment Act  
A. I and II are correct   B. I, II and IV are correct  
C. II only correct   D. All are correct 
gpd;tUtdtw;Ws; ,l xJf;fPL nfhs;if njhlh;ghd rl;lj;jpUj;jk; vJ? 
I. 1tJ rl;lj;jpUj;jr; rl;lk;  II. 76tJ rl;lj;jpUj;jr; rl;lk; 
III. 77tJ rl;lj;jpUj;jr; rl;lk; IV. 81tJ rl;lj;jpUj;jr; rl;lk; 
V. 85tJ rl;lj;jpUj;jr; rl;lk; 
A. I, II rhp  B. I, II, IV rhp  C. II kl;Lk; rhp  D. midj;Jk; rhp 
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70. Match the following 
a. Rules of procedure Committee  1. Alladi Krishnaswami Ayyar 
b. Provincial Constitution Committee 2. J.B. Kripalani 
c. Fundamental Rights Sub-Committee 3. Sardar Patel 
d. Credentials Committee   4. Dr. Rajendra Prasad 
 a b c d 
A. 4 3 2 1 
B. 3 4 2 1 
C. 2 1 4 3 
D. 1 2 3 4 
nghUj;Jf. 
a. eilKiw tpjpfs; FO   1. my;yhb fpU~;zrhkp ma;ah; 
b. khfhz murpayikg;G FO   2. J.B. fpUghspdp 
c. mbg;gil chpikfs; Jizf;FO  3. rh;jhh; gNly; 
d. ek;gpf;if FO    4. Dr. ,uhN[e;jpu gpurhj; 
 a b c d 
A. 4 3 2 1 
B. 3 4 2 1 
C. 2 1 4 3 
D. 1 2 3 4 

 
71. Consider the following statements. 

Assertion(A) : A Habeas Corpus writ petition dismissed by the Supreme Court 
can be admitted by the High Court under Article 226 of the Constitution. 
Reason(R) :In exercising writ jurisdiction, the powers of the Supreme Court and High 
Court are concurrent. 
Choose the correct option. 
A. Both (A) and (R) are true and (R)is correct explanation of (A)  
B. Both (A) and (R) are true but (R) is not correct explanation of (A) 
C. (A) is true but (R) is false 
D. (A) is false but (R) is true 
gpd;tUtdtw;iw Ma;f. 
$w;W (A): cr;rePjpkd;wj;jhy; js;Sgb nra;ag;gl;l Ml;nfhzh;T ePjpg;Nguhiz 
kDf;fs; murpayikg;gpd; ruj;J 226d; fPo; cah; ePjpkd;wq;fspy; mDkjpf;fg;gLfpwJ. 
fhuzk; (R): jw;NghJ eilKiwapy; cs;s ePjpg; Nguhizfspy; mjpfhukhdJ 
cr;rePjpkd;wk; kw;Wk; cah; ePjpkd;wj;Jf;fhd nghJg;gl;baypy; cs;sJ. 
rhpahd tpilia Njh;e;njL 
A. (A) kw;Wk; (R) ,uz;Lk; rhp NkYk; (R) MdJ (A) tpw;F rhpahd tpsf;fk; 
B. (A) kw;Wk; (R) ,uz;Lk; rhp NkYk; (R) MdJ (A) tpw;F rhpahd tpsf;fky;y 
C. (A) rhp Mdhy; (R) jtW 
D. (A) jtW Mdhy; (R) rhp 

 
72. With respect to the state of Jammu & Kashmir, the Article 370 of the Indian 

Constitution contained  
A. Transitional Provisions  B. Temporary Provisions   
C. Emergency Provisions  D. None of these 
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[k;K fh~;kPh; khepyj;ij nghWj;J> ,e;jpa murpayikg;gpd; rl;lf;$W 370 vijf; 
nfhz;Ls;sJ? 
A. ,ilepiy mjpfhuq;fs;  B. jw;fhypf mjpfhuq;fs;   
C. mtrufhy mjpfhuq;fs;  D. ,it VJkpy;iy 

 
73. Who is father of Statistics? 

A. Prof. Prasanta Chandra Mahalanobis B. Ronald Fisher 
C. John Mayn Keynes    D. David Ricardo 
Gs;spapaypd; je;ij ahh;? 
A. Nguhrphpah; gpure;j re;jpu kfyNehgp]; B. nuhdhy;L gp~;~h; 
C. [hd; Nkd; fPd;];    D. Nltpl; hpf;fhh;Nlh 
 

74. Choose the correct pair. 
A. Article 269A -  Goods and Services Tax Council 
B. Article 338A -  National Commission for Backward Classes 
C. Article 340  - Scheduled Areas and Scheduled Tribes Commission 
D. Article 350B - Special Officer for Linguistic Minorities 
rhpahd ,iziaf; fhz;f. 
A. ruj;J 269 A - ruf;F kw;Wk; Nrit thp FO 
B. ruj;J 338 A - gpw;gLj;jg;gl;NlhUf;fhd Njrpa Mizak; 
C. ruj;J 340   - gl;bay; ,idj;jtu; kw;Wk; goq;Fbapdh; Mizak; 
D. ruj;J 350 B - nkhop rpWghd;ikapdUf;fhd rpwg;G mYtyh; 
 

75. The soft loan affiliate of the World Bank is 
A. Asian Development Bank 
B. International Monetary Fund 
C. International Development Association 
D. International Bank for Reconstruction and Development 
nkd;fldpy; cyf tq;fpAld; ,izf;fg;gl;Ls;sJ ______ 
A. Mrpa tsh;r;rp tq;fp 
B. gd;dhl;L gz epjpak; 
C. gd;dhl;L Nkk;ghl;L mikg;G 
D. kWf;fl;likg;G kw;Wk; Nkk;ghl;Lf;fhd gd;dhl;L tq;fp  

 
76. The radius of a circular cricket ground is 76 m. A drainage 2 m wide has to be 

constructed around the cricket ground for the purpose of draining the rain water. Find 

the cost of constructing the drainage at the rate of ₹180/- per sq.m. 
A. 174960  B. 171360  C. 174240  D. 175140  
tl;l tbt kl;il ge;Jj; (cricket) jplypd; Muk; 76 kP me;j jpliyr; Rw;wpYk; 2 kP 
mfyj;jpy; kioePh; tbtjw;fhd tbfhy; (drainage) mikf;f Ntz;b ,Ue;jJ. xU 
rJu kPl;lUf;F & 180 tPjk; nrythdhy; me;j tbfhy; mikf;f Njitahd nkhj;j 
njhif  
A. 174960  B. 171360  C. 174240  D. 175140  

77. In an A.P. the sum of first n terms 
25 3

2 2

n n
+ . Find the 17th term.  

A. 664   B. 748   C. 48  D. 84  



 

18 | Page APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187 
 

xU $l;Lj; njhlh; thpirapy; Kjy; n cWg;Gfspd; $Ljy; 
25 3

2 2

n n
+  vdpy; 17tJ 

cWg;G  
A. 664   B. 748   C. 48  D. 84  
 

78. Kumar writes a letter to four of his friends. He asks each one of them to copy the letter 
and mail to four different persons with the instruction that they continue the process 

similarly. Assuming that the process is unaltered and it costs ₹2 to mail one letter, find 
the amount spent on postage when 8th set of letters is mailed.  
A. 65536  B. 65535  C. 174760  D. 82340  
Fkhh; jdJ ez;gh;fSf;F fbjk; vOJfpwhh;. NkYk; jdJ ez;gh;fis mth;fs; 
xt;nthUtUk; ehd;F ntt;NtW ez;gh;fSf;F fbjk; vOJkhWk; kw;Wk; ,e;j nray; 
Kiwiaj; njhlUkhWk; $Wfpwhh;. ,e;jr; nray;Kiw njhlh;r;rpahf eilngWfpwJ. 
xU fbjj;jpw;fhdr; nryT &.2 vdpy; 8 Kiw fbjq;fs; mDg;Gtjw;F MFk; nkhj;j 
nryT  
A. 65536  B. 65535  C. 174760  D. 82340  
 

79. Find the value of the sum:-  
3 + 5 + 6 + 9 + 10 + 12 + 15 + 18 + 20 + .... + 100  
A. 2648  B. 2418   C. 2128  D. 2368  
,j;njhlhpd; $Ljy; fhz;f.  
3 + 5 + 6 + 9 + 10 + 12 + 15 + 18 + 20 + .... + 100  
A. 2648  B. 2418   C. 2128  D. 2368  
 

80. Simplify: 
2 2

2

12 22 8 3 2 8

3 2 4

t t t t

t t t

− + + −


+
 

RUf;Ff: 
2 2

2

12 22 8 3 2 8

3 2 4

t t t t

t t t

− + + −


+
 

A. 
4(2 1)

3

t +
  B. 

(2 1)

3

t +
  C. 

4(2 1)

3

t −
  D. 4 (2t + 1)  

 
81. Consider the following statement regarding Tamil Nadu Backward Class 

Commission? 
I. First – 1969 – A. N. Sattanathan 
II. Second – 1982 – J. A. Ambashankar 
III. 2011 – M. S. Janarthanam 
A. I only correct   B. I and II are correct  
C. II only correct   D. All are correct 
jkpof gpw;gLj;jg;gl;Nlhh; Mizak; njhlh;ghd gpd;tUk; $w;Wfis Ma;f. 
I. Kjy; - 1969 – A.N. rl;ilehjd; 
II. ,uz;lhtJ – 1982 - J.A. mk;ghrq;fh; 
III. 2011 – M.S. [dhh;jdk; 
A. I kl;Lk; rhp    B. I, II rhp 
C. II kl;Lk; rhp    D. midj;Jk; rhp 
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82. ‘Legal Tender Money’ refers to 
A. Cheques  B. Drafts C. Bills of exchange  D. Currency notes 
‘rl;l Kiwg; gzk;’ vd;gJ 
A. fhNrhiy  B. tiuNthiy  C. khw;Wr;rPl;L  D. gzj;jhs;fs; 

 
83. Which of the following work refers that in those days sculptures were called as 

Manneetalar? 
A. Silapathikaram   B. Manimegalai 
C. Seevaga Sindhamani  D. Purananooru 
rpw;gf;fiyQu;fis “kz;zPl;lhsu;” vd miof;Fk; tof;fk; ,Ue;jijf; Fwpg;gpLk; E}y; 
vJ? 
A. rpyg;gjpfhuk;   B. kzpNkfiy 
C. rPtfrpe;jhkzp   D. GwehD}W 

 
84. World’s biggest Nandhi Statue is situated in __________ 

A. Thanjai Big Temple  B. Gangai Konda Cholapuram 
C. Lebashi    D. Mamallapuram 
cyfpd; kpfg;ngupa ee;jpapd; rpw;gk; mike;Js;s ,lk;? 
A. jQ;irg; ngupaNfhtpy;  B. fq;if nfhz;l NrhoGuk; 
C. nygh~p    D. khky;yGuk; 

 
85. Which age is called as Golden age of Bronze idols? 

A. Pallavas   B. Pandyas  C. Cholas D. Vijayanagar Empire 
nrg;Gj; jpUNkdpfspd; nghw;fhyk; vd;W miof;fg;gLtJ? 
A. gy;ytu;fs; fhyk;   B. ghz;bau;fs; fhyk; 
C. Nrhou;fs; fhyk;   D. tp[aefug; NguuR fhyk; 

 
86. Name the place where the Life History of Nayanmars in 90 sculptures can be founD. 

A. Tanjore Big Temple  B. Gangai Konda Cholapuram 
C. Tharasuram   D. Thiruvadhigai 
 
ehad;khu;fspd; tho;f;ifiaf; Fwpf;Fk; 90 rpw;;gq;fs; mike;Js;s ,lk;? 
A. jQ;irg; ngupa Nfhtpy;  B. fq;if nfhz;l NrhoGuk; 
C. jhuhRuk;    D. jpUtjpif 

 
87. Choose the correct statement 

i. Kalabras embraced Saivism 
ii. Ethical literature started to emerge during later Sangam period 
iii. Reference of Musical Instruments are found in Eighteen Minor Works such as 

Thirukural, Naladiyar, Nanmanikadigai 
A. i, ii, iii  B. i, ii   C. ii, iii  D. i, iii 
gpd;tUk; $w;Wfspy; rupahdit vit? 
i. fsg;gpuu;fs; irt rkaj;ijj; jOtpdu;. 
ii. mw ,yf;fpaq;fs; rq;fk; kUtpa fhyj;jpy; Njhd;wpD. 
iii. gjpndz; fPo;f;fzf;F E}y;fspy; jpUf;Fws;> ehybahh;> ehd;kzpf;fbif 

Kjypatw;wpy; ,irf;fUtpfs; gw;wpar; nra;jpfs; ,lk;ngw;Ws;sD. 
A. i, ii, iii  B. i, ii   C. ii, iii  D. i, iii 
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88. Carnatic Music started to flourish during the reign of _______ 
A. Vijayanagar Empire  B. Nayak 
C. Later Cholas   D. Pallavas  
fu;ehlf ,irtbtk; jkpofj;jpy; tsuj; njhlq;fpa fhyk;? 
A. tp[aefu NguuR fhyk;  B. ehaf;fu;fs; fhyk; 
C. gpw;fhyr; Nrhou;fs; fhyk;  D. gy;ytu;fs; fhyk; 

 
89. Where do we find the three phases, viz, palaeolithic, Mesolithic and Neolithic Cultures 

in sequence? 
A. Kashmir Valley   B. Godavari Valley 
C. Belan Valley   D. Krishna Valley 
gioa fw;fhyk;> ,il fw;fhyk;> Gjpa fw;fhyk; ehfupf tupirfspd; %d;W 
fl;lq;fisAk; vq;Nf fhzyhk;? 
A. fh~;kPu; gs;sj;jhf;F  B. Nfhjhtup gs;sj;jhf;F 
C. ngyd; gs;sj;jhf;F  D. fpU~;zh gs;sj;jhf;F 

 
90. Match the following. 

Indus Valley   Burial customs 
A. Harappa   1. Brick chamber or cist 
B. Lothal   2. Coffin burial 
C. Kalibangan   3. Pot burial 
D. Surkotada   4. Double burial 
 A B C D 
A.  2 4 3 1 
B. 4 2 1 3 
C.  2 4 1 3 
D. 1 3 2 4 
nghUj;Jf 
rpe;Jntsp ,lq;fs;  <kr;rpd;d tiffs; 
A. `ug;gh   1. nrq;fy; miw my;yJ fy;yiw 
B. Nyhj;jy;   2. rtg;ngl;bapy; Gijj;jy; 
C. fhypgq;fd;    3. ghidapy; Gijj;jy; 
D. Ru;Nfhlhlh   4. ,ul;il mlf;fk; nra;jy; 
 A B C D 
A.  2 4 3 1 
B. 4 2 1 3 
C.  2 4 1 3 
D. 1 3 2 4 

 
91. What is the animal that is found in most of the pillars of the Pallavas, representing the 

founder of Pallava dynasty? 
A. Tiger  B. Lion   C. Elephant  D. Bull 
gy;yt tk;rj;ij cUthf;fpatiu Fwpf;Fk; tpjkhf gy gy;ytu; J}z;fspy; fhzg;gLk; 
tpyq;F vJ? 
A. Gyp   B. rpq;fk;  C. ahid  D. fhis 
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92. Match the following. 
A. Ibn Battutah  1. Futuh-us-Salatin 
B. Alberuni   2. Kitab-i-Hind 
C. Isami   3. Tughluq Namah 
D. Amir Khusrau  4. Tabaqat-i-Nasiri 
E. Minhaj-i-Siraj  5. Kitab-ul-Rahla 
 A B C D E 
A.  2 3 1 4 5 
B. 1 4 5 3 2 
C.  5 2 1 3 4 
D. 5 2 4 1 3 
nghUj;Jf 
A. ,gpd; gJ}jh  1. G/J-m];-ryhjpd; 
B. my;ngUzp   2. fpjhg;-,-`pe;j; 
C. ,rhkp    3. Jf;sf; ehkh 
D. mkPu; F];U   4. jghfj;-,-erpup 
E. kpd;`[;-,-rpuh[;  5. fpjhg;-cy;-uhyh 
 A B C D E 
A.  2 3 1 4 5 
B. 1 4 5 3 2 
C.  5 2 1 3 4 
D. 5 2 4 1 3 

 
93. Match the following 

A. Thiruvembavai   1. Sekkizhar 
B. Thirupavai    2. Manickavasagar 
C. Thirumandhiram   3. Andal  
D. Thiruthondarpuranam  4. Thirumoolar 
 A B C D 
A. 1 2 3 4 
B. 2 3 4 1 
C. 1 3 2 4 
D. 2 3 1 4 
nghUj;Jf. 
A. jpUntk;ghit   1. Nrf;fpohu; 
B. jpUg;ghit    2. khzpf;fthrfu; 
C. jpUke;jpuk;    3. Mz;lhs; 
D. jpUj;njhz;lu;Guhzk;  4. jpU%yu; 
 A B C D 
A. 1 2 3 4 
B. 2 3 4 1 
C. 1 3 2 4 
D. 2 3 1 4 
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94. Match the following 
A. Sutta Pitaka  1. Buddha’s teachings 
B. Vinaya Pitaka  2. Steps to attain sainthood by Buddhist monks  
C. Abitham Pitaka  3. Buddhist Philosophies 
 A B C 
A. 1 2 3 
B. 3 2 1 
C. 2 3 1 
D. 2 1 3 
nghUj;Jf: 
A. Rj;j gPlfk;  - 1. Gj;jupd; mwpTiufs; 
B. tpea gPlfk;  - 2. ngse;JJwtpfSf;fhd QhdKOf;f Kiwfs; 
C. mgpjk;kgPlfk; - 3. Gj;jupd; jj;Jtq;fs; 
 A B C 
A. 1 2 3 
B. 3 2 1 
C. 2 3 1 
D. 2 1 3 

 
95. Which country is referred to as the ‘Italy of Asia’? 

 A. China  B. India  C. Tibet  D. Cambodia  
Mrpahtpd; ,j;jhyp vd miof;fg;gLk; ehL vJ? 
A. rPdh  B. ,e;jpah  C. jpngj;   D. fk;Nghbah 

 
96. The book that projects the lifestyle of Tamilians. 

A. Thirukkural  B. Puranaanooru 
C. Tholkappiam  D. Aganaanooru 
jkpoupd; tho;tpaiy cyfpw;F czu;j;Jk; E}y;? 
A. jpUf;Fws;   B. GwehD}W  
C. njhy;fhg;gpak;   D. mfehD}W 

 
97. Match the following 

A. Aluminium   1. Monazite 
B. Uranium   2. Pitch blende 
C. Thorium   3. Bauxite 
D. Lead   4. Galena 
 A B C D 
A. 1 3 2 4 
B. 3 2 4 1 
C. 3 2 1 4 
D. 2 3 1 4 
nghUj;Jf. 
A. mYkpdpak;   1. Nkhdirl; 
B. ANudpak;   2. gpl;r; gpsz;l; 
C. Njhupak;   3. ghf;irl; 
D. fhhPak;   4. fyPdh 
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 A B C D 
A. 1 3 2 4 
B. 3 2 4 1 
C. 3 2 1 4 
D. 2 3 1 4 

 
98. The formula for plaster of Paris is 

A. CaSO4  B. CaSO4. 2H2O C. 2CaSO4. 4H2O D. 2CaSo4.H2O 
ghuP]; rhe;jpd; tha;ghL 
A. CaSO4  B. CaSO4. 2H2O C. 2CaSO4. 4H2O D. 2CaSo4.H2O 

 
99. Find out the correct statements. 

1. Non-function of lachrymal gland is an important symptom of deficiency of 
Vitamin A. 

2. Deficiency of Vitamin B1 can lead to indigestion and heart enlargement. 
3. Vitamin C deficiency can lead to pain in the muscles. 
4. Deficiency of Vitamin D causes increased loss of Ca++ in urine. 
A. 1 and 2 only   B. 2, 3 and 4 only   
C. 1, 3 and 4 only   D. All the above 
rhpahd $w;Wfis fz;lwpf. 
1. yhf;upky;  Rug;gpfs; nray;glhj epiyahdJ itl;lkpd; A FiwghLf;fhd 

mwpFwpahFk;. 
2. itl;lkpd; B1 FiwghlhdJ rhpahd nrupkhdkpd;ik kw;Wk; ,jak; tphptiljy; 

Mfpa ghjpg;Gfis cUthf;Fk;. 
3. itl;lkpd; C FiwghL jirfspy; typia cz;lhf;Fk;. 
4. itl;lkpd; D FiwghL rpWePhpy; Ca++ ,og;ig mjpfhpf;Fk;. 
A. 1, 2 kl;Lk;       B. 2, 3, 4 kl;Lk; C. 1, 3, 4 kl;Lk;  D. Nkw;fz;l midj;Jk; 

 
100. Who was the court poet of Gajini Mohammed? 

A. Ameer Kusrou  B. Visagadutta 
C. Raja Thodarmal  D. Alberuni 
f[pdp KfkJtpd; mitg;Gytuhf tpsq;fpatu;? 
A. mkPu;F];U   B. tprhfjj;jh 
C. uh[h Njhlu;khy;  D. my;ngUdp 
 

101. Which one of the following is correct in respect of the commencement of the election 
process in India? 
A. The recommendation for election is made by the government and the notification 

for election is issued by the Election Commission. 
B. The recommendation for election is made by the Election Commission and the 

notification for election is issued by the Home Ministry at the Centre and Home 
Departments in the States. 

C. The recommendation for election is made by the Election Commission and the 
notification for election is issued by the President and Governors of the States 
concerned. 

D. Both the exercises of making a recommendation for election and that of issuing a 
notification in respect of it are done by Election Commission. 
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fPo;f;fz;l ,e;jpa Njh;jy; eilKiwapy; vJ rhpahd eilKiwahFk;. 
A. Njh;jy; gw;wpa ghpe;Jiu murhq;fj;jhy; Nkw;nfhs;sg;gl;L Njh;jy; gw;wpa mwptpg;G 

Njh;jy; Mizaj;jhy; mwptpf;fg;gLk;. 
B. Njh;jy; Mizaj;jpd; ghpe;Jiuia Vw;W kj;jpa kw;Wk; khepy cs;Jiw eph;thfk; 

Njh;jy; gw;wpa mwptpg;G ntspapLk; 
C. Njh;jy; gw;wpa ghpe;Jiu Njh;jy; Mizaj;jhy; ghpe;Jiuf;fg;gl;L Njh;jy; mwptpg;G 

FbauRj; jiytuhYk; khepy MSeu;fshYk; mwptpf;fg;gLk;. 
D. Njh;jy; gw;wpa ghpe;Jiu kw;Wk; Njh;jy; gw;wpa mwptpg;G midj;Jk; Njh;jy; 

Mizaj;jhy; Nkw;nfhs;sg;gLk;. 
 
102. Match List I with List II  

List I      List II 
(Publisher)     (Publication) 
A. Ministry of Commerce and Industry 1. Report on currency and Finance 
B. Central Statistical Organisation  2. Economic Survey 
C. Reserve Bank of India   3. Wholesale Price Index 
D. Ministry of Finance   4. National Accounts Statistics 
Codes: 

A B C D 
A. 4 3 2 1 
B.  3 4 1 2 
C.  4 3 1 2 
D.  3 4 2 1 
nghUj;Jf. 
thpir I      thpir II 
ntspaPl;lhsh;      ntspaPL 
A. th;j;jfk; kw;Wk; njhopy;Jiw mikr;rfk;  1. gzk; kw;Wk; epjpgw;wpa 
mwpf;if 
B. kj;jpa Gs;spay; mikg;G    2. nghUshjhu fzf;fPL 
C. ,e;jpa hprh;t; tq;fp     3. nkhj;j tpahghu tpiy FwpaPL 
D. epjp mikr;rh;     4. Njrpa fzf;F Gs;sptptuk; 

A B C D 
A. 4 3 2 1 
B.  3 4 1 2 
C.  4 3 1 2 
D.  3 4 2 1 
 

103. In which of the following cases did the Supreme Court explain that the two expressions 
equality before law and equal protection of law do not mean the same? 
A. Sri Srinivasa theatre Vs. Govt. of Tamil Nadu    
B. Behram Vs State of Bombay     
C. State of Gujarat Vs Shri Ambica Mills  
D. Lakshman Das Vs Rahul Jain 
gpd;tUk; ve;j tof;fpy;> cr;r ePjpkd;wkhdJ> ‘rl;lj;jpw;F Kd; midtUk; rkk;’ kw;Wk; 
‘rl;lj;jhy; rk ghJfhg;G’ vd;W ,U ntspg;ghLfSk; xd;whd mh;j;jk; nfhz;lit 
my;y vd;W tpthpj;jJ? 
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A. = =epthr jpNal;lh; vjph; jkpof muR    
B. ng`uk; vjph; gk;gha; muR    
C. F[uhj; muR vjph; = mk;gpfh kpy;];    
D. y~;kd; jh]; vjph; uhFy; n[apd;  
 

104. Choose the correct statements about Maraimalai Adigal 
i. He was father of Tamil linguistic Purism. 
ii. He started ‘Thani Tamil Iyakkam’ that demanded a separate state of 

Tamilnadu. 
iii. His journal was Arivukkadal. 
iv. He ran an institution named Podhunilai Kazhagam. 
v. He compiled dictionary for pure Tamil words to Sanskrit words that crept into 

Tamil vocabulary. 
A. i, ii, iii and iv only    B. i, iii, iv and v only 
C. i, iii and iv only    D. all the above 
kiwkiy mbfs; gw;wpa rhpahd $w;Wfis Njh;f 

i. mth; jkpo; J}a;ik nkhopapay; je;ij vdg;gLfpwhh; 
ii. jkpo;ehl;il jdp khepykhff; NfhUk; “jdp jkpo; ,af;fj;ij” njhlq;fpdhh; 

iii. ,thpd; gj;jphpf;if mwpTf;fly; 
iv. nghJ epiyf;fofk; vDk; epWtdj;ij elj;jpdhh; 

v. rk];fpUj nrhw;fSf;F J}a jkpo; nrhw;fisj; njhFj;J mfuhjpahf 
ntspapl;lhh; 

A. i, ii, iii kw;Wk; iv kl;Lk;   B. i, iii, iv kw;Wk; v kl;Lk; 
C. i, iii kw;Wk; iv kl;Lk;   D. ,it midj;Jk; 

 
105. Why Periyar Quit Congress in 1925? 

A. Congress was not able to address caste inequality practiced by its members. 
B. Cheranmadevi Gurukulam controversy 
C. Non passing of resolution for reservation of Non-Brahmins in legislative council 
D. all the above 
1925,y;> Vd; nghpahh; fhq;fpurpy; ,Ue;J ntspNawpdhh;? 

A. fhq;fpurpy;> mjd; cWg;gpdh;fs; njhlh;e;J filgpbf;Fk; rhjpg;ghFghl;il vjph;f;f 
Kbatpy;iy 

B. Nrud;khNjtp FUFy epfo;T 
C. rl;lrig Nghd;w gpujpepjpj;Jt mikg;Gfspy; gpuhkzh; my;yhjth;fSf;F ,l 

xJf;fPL toq;fg;gltpy;iy 

D. Nkw;fz;l midj;Jk; 
 
106. How many kinds of Democracy are there? 

A. 3    B. 2   C. 1   D. 4 
kf;fshl;rp vj;jid tifg;gLk;? 
A. 3    B. 2   C. 1   D. 4 

 
107. Which of the following is not included in the state list in the Constitution of India? 

A. Police  B. Public order C. Prisons  D. Insurance 
,e;jpa murpayikg;gpd; gb fPo;tUgdtw;Ws; khepyg; gl;baypy; ,lk; ngwhjJ vJ? 

A. fhty; Jiw  B. nghJ mikjp  C. rpiwr;rhiy  D. fhg;gPL 
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108. In Indian Constitution which part states about the special provision to protect the 
interests of the Anglo-Indian Community? 
A. Part XIII  B. Part XIV  C. Part XV  D. Part XVI 
,e;jpa murpayikg;gpy; ve;jg; gphpT Mq;fpNyh - ,e;jpah;fspd; eyd; ghJfhf;Fk; rpwg;G 
mjpfhuq;fs; gw;wp $WfpwJ? 
A. gphpT XIII  B. gphpT XIV  C. gphpT XV  D. gphpT XVI 

 
109. The Attorney General of India is appointed by whom? 

A.The Chief Justice of India   B. The President of India   
C. The Prime Minister of India  D. The Parliament of India 
,e;jpahtpd; jiyik tof;fwpQh; ahuhy; epakpf;fg;gLfpwhh;? 
A. ,e;jpa jiyik ePjpgjp   B. ,e;jpa [dhjpgjp    
C. ,e;jpa gpujk ke;jphp   D. ,e;jpa ghuhSkd;wk; 
 

110. Match the following : 
A. Original Jurisdiction 1.Constitutionality of a Legislative Act 
B. Appellate Jurisdiction 2.Matters referred to Supreme Court by the President of 

India 
C. Advisory Jurisdiction 3. Review decision from Lower Court 
D. Judicial Review  4. To enforce Fundamental Rights 
 a b c d 
A. 1 2 3 4  
B. 3 1 4 2 
C. 2 4 1 3 
D. 4 3 2 1 
gpd;tUdtw;iw nghUj;Jf:  
A. mry; mjpfhu tuk;G  1. rl;lkd;w rl;lj;jpd; murpayikg;G jd;ik  
B. Nky;KiwaPL mjpfhutuk;G   2. cr;rePjp kd;wj;jplk; ,e;jpahtpd;  

FbauRj;jiytuhy; tp~aq;fisg; gw;wp 
MNyhrid Nfl;gJ 

C. mwpTiu $Wk; mjpfhu tuk;G  3. fPo;ik ePjpkd;wj;jpd; jPh;g;ig rPh; Ma;f  
D. ePjpg; Gduha;T        4. mbg;gil chpikfis eilKiwg;gLj;jpaJ 
 a b c d 
A. 1 2 3 4  
B. 3 1 4 2 
C. 2 4 1 3 
D. 4 3 2 1 
 

111. Staff selection commission was established in 1975 by 
A. A resolution of Loksabha   
B. A resolution of Rajyasabha   
C. An order of Parliament   
D. An executive resolution of central government  
1975-y; gzpahsh; Njh;thizak; cUthf;fg;gl;lJ. 
A. kf;fsit jPh;khdj;jpd; mbg;gilapy;    
B. khepyq;fsit jPh;khdj;jpd; mbg;gilapy;    
C. ghuhSkd;w Mizapd; mbg;gilapy;    
D. kj;jpa murhq;fj;jpd; eph;thfpfspd; jPh;khdj;jpd; mbg;gilapy; 
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112. Match the following : 
  Acts                                        Year 

A. National Plan of Action for Women            1. 1990  
B. National Commission for Women Act          2. 1976  
C. Commission of Sati Prevention Act   3. 1986 
D. Indecent representation of women (Prohibition) Act 4. 1987  
 a b c d 
A. 2 1 4 3 
B. 1 3 2 4 
C. 3 4 1 2 
D. 4 2 3 1 
gpd;tUtdtw;iw nghUj;Jf: 
 rl;lq;fs;      tUlk; 
A. ngz;fSf;fhd Njrpa jpl;l nray;ghL   1. 1990 
B. Njrpa ngz;fs; rl;lj;jpw;fhd Mizak;   2. 1976 
C. cld;fl;il VWjy; jLg;G rl;l Mizak;  3. 1986 
D. ngz;fis jfhj Kiwapy; gpuRhpj;jy; (jLg;G) rl;lk;  4. 1987 
 a b c d 
A. 2 1 4 3 
B. 1 3 2 4 
C. 3 4 1 2 
D. 4 2 3 1 

 
113. In which year the Election Commission issued the ‘election symbols order’ under 

which political parties had to register themselves with the commission? 
A. 1952  B. 1968  C. 1971  D. 1989 
murpay; fl;rpfs; jq;fspd; fl;rp rpd;dk; njhlh;ghf Njh;jy; Mizj;jplk; gjpT nra;J 
nfhs;s Ntz;Lk; vd;gJ njhlh;ghD. “Njh;jy; rpd;d cj;jutpid” ve;j Mz;L Njh;jy; 
Mizak; gpwg;gpj;jJ? 

A. 1952  B. 1968  C. 1971  D. 1989 
 
114. Match the following : 

A. Governor    1. Article 171 
B. Chief Minister   2. Article 170 
C. State Legislative Council  3. Article 153 
D. State Legislative Assembly 4. Article 163 
 a b c d 
A. 3 2 4 1 
B. 3 4 1 2 
C. 1 4 3 2 
D. 2 3 1 4 
nghUj;Jf. 
A. MSeh;    1. rl;lf;$W 171 
B. Kjyikr;rh;    2. rl;lf;$W 170 
C. khepy Nkyit   3. rl;lf;$W 153 
D. khepy rl;lNguit   4. rl;lf;$W 163 
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 a b c d 
A. 3 2 4 1 
B. 3 4 1 2 
C. 1 4 3 2 
D. 2 3 1 4 

 
115. What is the age qualification for a member of District Panchayat?  

A. 21   B.    25   C. 30      D. 35 
khtl;l gQ;rhaj;J cWg;gpduhtjw;F taJ jFjp 
A. 21   B. 25   C. 30   D. 35 

 

116. LCM of 2 2 3 3 3(2 3 ) , (4 6 ) , (8 27 )x xy x y x y− − −  
2 2 3 3 3(2 3 ) , (4 6 ) , (8 27 )x xy x y x y− − −  ,tw;wpd; kP.rp.k  

A. 2x2 (2x – 3y)3 (4x2 + 6xy + 9y2)  
B. 23 x2 (2x – 3y)3 (4x2 + 6xy + 9y2)  
C. 23x2 (2x - 3y)2 (4x2 + 6xy + 9y2)  
D. 8x3 (2x – 3y)3 (4x2 + 6xy + 9y2)  
 

117. A passenger train takes 1 hr more than an express train to travel a distance of 240 km 
from Chennai to Virudhachalam. The speed of passenger train is less than that of an 
express train by 20 km per hour. Find the average speed of the express train.  
A. 60 km/hr  B. 40 km/hr  C. 80 km/hr  D. 120 km/hr 
nrd;idapy; ,Ue;J tpUj;jhr;ryj;jpw;F 240 fp.kP J}uj;ij flf;f xU gazpfs; njhlh; 
tz;bf;F xU tpiuT njhlh; tz;bia tpl 1 kzpNeuk; $Ljyhf Njitg;gLfpwJ. 
gazpfs; njhlh;tz;bapd; Ntfk;> tpiuT njhlh; tz;bapd; Ntfj;ijtpl 20 fp.kP / 
kzp FiwT vdpy;> tpiuT njhlh; tz;bapd; ruhrhp Ntfk;?  
A. 60 fp.kP / kzp B. 40 fp.kP / kzp C. 80 fp.kP / kzp D. 120 fp.kP / kzp  
 

118. If (x – 6) is the HCF of x2 – 2x – 24 and x2 – Kx – 6 then the value of K is  
A. 3   B. 5   C. 6   D. 8  
x2 – 2x – 24 kw;Wk; x2 – kx – 6 Mfpa ,U Nfhitfspd; kP.ngh.t (x – 6)  vdpy; K d; 
kjpg;G  
A. 3   B. 5   C. 6   D. 8  
 

119. 4 persons live in a conical tent whose slant height is 19 m. If each person require 22 m2 
of the floor area, then find the height of the tent.  
A. 18 m   B. 18.5 m  C. 18.75 m  D. 18.25 m  
rhAAuk; 19 kP nfhz;l $k;G tbt $lhuj;jpy; ehy;th; cs;sdh;. xUtUf;F 22 r.kP 
gug;G Njit vdpy;> $lhuj;jpd; cauk; vd;d?  
A. 18 kP  B. 18.5 kP  C. 18.75 kP  D. 18.25 kP  

 

120. A hemi-spherical tank of radius 1.75 m is full of water. It is connected with a pipe 
which empties the tank at the rate of 7 litre per second. How much time will it take to 
empty the tank completely? (approximately) 
A. 27 min  B. 25 min  C. 1517 min  D. 1548 min 
Muk; 1.75 kP cs;s Xh; miuf;Nfhs tbtj; njhl;b Kw;wpYk; ePuhy; epug;gg;gl;Ls;sJ. 
xU Fohapd; %yk; tpehbf;F 7 ypl;lh; tPjk; njhl;bapypUe;J ePh; ntspNaw;wg;gLkhdhy; 
njhl;bia vt;tsT Neuj;jpy; KOtJkhf fhyp nra;ayhk;. (Njhuhakhf)  
A. 27 epkplq;fs;  B. 25 epkplq;fs;  C. 1517 tpdhbfs; D. 1548 tpdhbfs;  
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121. Consider the following 
Assertion (A) : The Governor's report may lead to the declaration of emergency in a 

State. 
Reason (R) :  The constitutional head of the State becomes the head of the 

government in the state in the event of State emergency. 
A. (A) and (R) are true and (R) is the correct explanation of (A) 
B. (A) and (R) are true, but (R) is not the explanation of (A) 
C. (A)is true, (R) is false    
D. (A) is false, (R) is true 
gpd;tUtdtw;iw Ma;f 
$w;W (A) : MSehpd; mwpf;ifapd; mbg;gilapy; xU khepyj;jpy; khepy neUf;fb  

epiyia nfhz;L tuyhk;  
fhuzk;(R): khepy neUf;fb epiyapd; NghJ khepyj;jpd; murpayikg;G hPjpahd  

jiyth; murhq;fj;jpd; jiyth; Mfpwhh; 
A. (A) kw;Wk; (R) ,uz;Lk; rhp> (R) vd;gJ (A) apd; rhpahd tpsf;fkhFk;  
B. (A) kw;Wk; (R) ,uz;Lk; rhp> Mdhy; (R) vd;gJ (A) apd; tpsf;fkd;W  
C. (A) rhp (R) jtwhdJ     
D. (A) jtW> (R) rhp 

 
122. The protection of Human Rights Act 1993 was amended in the year  

A. 2004   B. 2005   C. 2006         D. 2007 
kdpj chpikg; ghJfhg;Gr; rl;lk; 1993> rl;lj; jpUj;jk; nra;ag;gl;l Mz;L 
A. 2004   B. 2005   C. 2006         D. 2007 

 

123. The annual report of the Comptroller and Auditor General of India is scrutinized in 
detail by  
A. Public Accounts Committee    
B. Estimate Committee 
C. Consultative Committee on expenditure 
D. Select Committee on expenditure 
,e;jpa jiyik fzf;F kw;Wk; jzpf;if mjpfhhpapd; tUlhe;jpu mwpf;if ve;j 
FOtpd; Ma;tpw;F mDg;gg;gLfpwJ? 
A. nghJfzf;Ff;FO    
B. kjpg;gPl;Lf;FO 
C. nrytPdf; fye;jha;Tf;FO   
D. nrytPdq;fSf;fhd Njh;Tf;FO 

 

124. Which of the following movement was responsible for the beginning of Right to 
Information Campaign in India? 
A. Mazdoor Kisan Shakti Sangathan (MKSS) 
B. Aam Aadmi Party  
C. Peoples Union for Civil Liberties 
D. Indian Anti-Corruption movement led by Anna Hazare  
gpd;tUk; ve;j ,af;fk; ,e;jpahtpy; jfty; mwpAk; chpik gpur;rhu Jtf;fj;jpw;F 
nghWg;GilaJ? 
A. k];J}h; fp]hd; rf;jp rq;fjd;  
B. Mk; Mj;kp fl;rp  
C. Fbik Rje;jpuq;fSf;fhd kf;fs; xd;wpak;  
D. md;dh `rhNu jiyikapyhd ,e;jpa Coy; xopg;G ,af;fk;  
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125. Indian Foreign Service is one of the services is  
A. All-India Service    B.  Central Services Group-A 
C. Central Services Group-C  D. None of these 
vjpy; ,e;jpa may;ehl;Lg; gzpahdJ Kjd;ikahd gzpahf ,Uf;fpwJ?  
A. mfpy ,e;jpa gzpfs;   B. kj;jpa gzpfs; gphpT – m  
C. kj;jpa gzpfs; gphpT - ,  D. ,it VJkpy;iy 

 
126. The Golden Quadrilateral joins 

A. Delhi – Mumbai – Chennai – Kolkata – Delhi 
B. Chandigarh – Delhi – Mumbai – Chennai – Delhi 
C. Delhi – Mumbai – Kaniyakumari – Kolkata – Delhi 
D. Delhi – Jodhpur – Mumbai – Chennai – Kolkata – Delhi 
jq;f ehw;fu rhiy vtw;iw ,izf;fpwJ? 
A. nly;yp – Kk;ig – nrd;id – nfhy;fj;jh – nly;yp 
B. rz;bfh; – nly;yp – Kk;ig – nrd;id – nly;yp  
C. nly;yp – Kk;ig – fd;dpahFkhp – nfhy;fj;jh – nly;yp 
D. nly;yp – N[hj;g+h; – Kk;ig – nrd;id – nfhy;fj;jh – nly;yp  

 
127. Match the following. 

A. Pampas   1. Argentina 
B. Prairies   2. North America 
C. Veldt   3. South Africa 
D. Downs   4. Australia 
 A B C D 
A. 1 2 3 4 
B. 2 3 4 1  
C. 3 4 1 2 
D. 4 1 2 3 
nghUj;Jf: 
A. ghk;gh];   1. mh;n[d;bdh 
B. g;nua;hp];   2. tl mnkhpf;fh 
C. nty;l;   3. njd; Mg;hpf;fh 
D. nlsd;];   4. M];jpNuypah 
 A B C D 
A. 1 2 3 4 
B. 2 3 4 1  
C. 3 4 1 2 
D. 4 1 2 3 

 
128. Consider the following statements. 

1. Riparian forest is found on the foot hills of eastern Slope of Western Ghats. 
2. Taiga forests are found in Kashmir. 
3. The South-West monsoon causes heavy rainfall in the shillong plateau. 
4. The North-East Monsoon causes the rainfall over Odisha coast during winter. 
Choose the correct option. 
A. 1 and 4 are incorrect  B. 2 and 3 are incorrect 
C. 1 and 2 are correct   D. 3 and 4 are correct 
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gpd;tUk; $w;Wfis Ma;f: 
1. hpghhpad; fhLfs; Nkw;F njhlh;r;rp kiyapd; fpof;Fr; rhpTfspd; mbthug; gFjpapy; 

fhzg;gLfpwJ. 
2. ilfh fhLfs; fh~;kPhpy; fhzg;gLfpwJ. 
3. njd;Nkw;F gUtf;fhw;W ~py;yhq; gPlg+kpapy; kpf mjpf kiog;nghopitj; jUfpwJ.  
4. tlfpof;F gUtf;fhw;W Fsph;fhyj;jpd; NghJ xbrh flw;fiu gFjpfspy; 

kiog;nghopitj; jUfpwJ.  
A. 1 kw;Wk; 4 jtW   B. 2 kw;Wk; 3 jtW 
C. 1 kw;Wk; 2 rhp   D. 3 kw;Wk; 4 rhp 

 
129. Which one of the following is a basic characteristic of Indian economy? 

A. High standard of living of the average Indians 
B. Unequal distribution of income and wealth 
C. Absence of capital formation 
D. Density of population 
gpd;tUtdtw;Ws; ,e;jpag; nghUshjhuj;jpd; mbg;gil ,ay;Gfspy; xd;W vJ?  
A. ruhrhp ,e;jpah;fspd; cah;e;j tho;f;ifj; juk;  
B. tUkhdk; kw;Wk; nry;tg; gfph;tpy; rkepiyapd;ik  
C. %yjd Mf;fkpd;ik  
D. kf;fs; njhif mlh;j;jp  

 
130. The policy of the government with regard to its revenue and expenditure is called  

A. Economic Policy       B. Fiscal Policy 
C. Monetary Policy   D. Revenue-Expenditure Policy 
murpd; tUtha; kw;Wk; nryT njhlh;Gila nfhs;if ,t;thW miof;fg;gLfpwJ. 
A. nghUshjhuf; nfhs;if   B. epjpf; nfhs;if  
C. gzf; nfhs;if   D. tUtha; kw;Wk; nryTf; nfhs;if  

 
131. The Reserve Bank of India has the sole right to issue bank notes of all denomination 

under the Section ______________of RBI Act. 
A. 22    B. 23   C. 24                  D. 26 
,e;jpa ika tq;fp tpjp ________ d; gb ika tq;fpf;F vy;yh tifahd gz 
Nehl;LfisAk; ntspapLk; jdpg;ngWk; mjpfhuk; cs;sJ 
A. 22    B. 23   C. 24                  D. 26 
 

132. The Human Resource Development is a composite index of each country is  
A. Health Status, Education, Per Capita GDP 
B. Health Status, Education, Per Capita GNP 
C. Health Status, Education, Per Capita NNP 
D. Health Status, Education, Per Capita NDP 
kdpj ts Nkk;ghL> fPo;fz;l FwpaPLfspy; xt;nthU ehl;bYk; fPo;f;fz;l vtw;iw 
Nrh;j;;jpUf;f Ntz;Lk;. mJ 
A. kdpj eyk;> fy;tp> nkhj;j cs;ehl;L cw;gj;jpapy; jyh tUkhdk; 
B. kdpj eyk;> fy;tp> nkhj;j ehl;L cw;gj;jpapy; jyh tUkhdk; 
C. kdpj eyk;> fy;tp> epfu ehl;L cw;gj;jpapy; jyh tUkhdk; 
D. kdpj eyk;> fy;tp> epfu cs;ehl;L cw;gj;jpapy; jyh tUkhdk; 
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133. The most important small-scale industry in India is the _______ Industry. 
A. Textile   B. Paper  C. Jute   D. Handloom 
,e;jpahtpy; rpW njhopy;fs; mjpfkhf fhzg;gLtJ _______ njhopyhfs;. 
A. nerTj; njhopy;fs; B. Ngg;gh; njhopy;fs; 
C. rzy; njhopy;fs;  D. ifj;jwp njhopy;fs; 

 
134. Who among the following was worshipper of Rama? 

A. Surdas  B. Mirabai  C. Chaitanya  D. Tulsidas 
gpd;tUNthu;fspy; ,uhkid topgl;ltu; ahh;? 

 A. #u;jh];  B. kPuhgha  C. irj;ad;au;  D. Jsrp jhru; 
 
135. Match the following of taxation system introduced by Firoz Shah Tughlaq. 

A. Kharaj  1. Land Tax 
B. Zakat  2. Prpoerty Tax of Muslims 
C. Jaziya  3. Non-Muslim Tax 
D. Khams  4. War Tax 
 A B C D  
A.  1 2 3 4 
B. 2 1 3 4  
C.  1 4 3 2  
D. 4 2 3 1 
ngNuh]; ~h Jf;sf; nfhz;Lte;j tup Kiwfisg; nghUj;Jf. 
A. fhu[;  1. epytup 
B. [fj;  2. K];ypk;fSf;fhd nrhj;J tup 
C. [prpah  3. K];ypk; my;yhjtu; tup 
D. fhk;];  4. Nghh;tup 
 A B C D  
A.  1 2 3 4 
B. 2 1 3 4  
C.  1 4 3 2  
D. 4 2 3 1 

 
136. Match the following. 

A. Ho Uprising (1827)   1. Buddho Bhagat 
B. Kol Uprising (1831)   2. Chakra Bisoi 
C. Khand Uprising (1837)  3. Sido and Kanhu 
D. Santhal Uprising (1855)  4. Raja Parahat 
 A B C D  
A.  1 3 2 4 
B. 3 1 4 2  
C.  2 1 4 3  
D. 4 1 2 3 
nghUj;Jf 
A. N`h fpsh;r;rp (1827)  1. Gj;Njh gfj; 
B. Nfhy; fpsu;r;rp (1831)  2. rf;uh gpNrha; 
C. fhe;j; fpsh;r;rp; (1837)  3. rpj;J kw;Wk; fZ 
D. rhe;jyu; fpsu;r;rp(1855)  4. uh[h guh`j; 
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  A B C D  
A.  1 3 2 4 
B. 3 1 4 2  
C.  2 1 4 3  
D. 4 1 2 3 

 
137. Consider the following statements. 

1. Rote learning refers to things that can be, or are memorized, usually by continued 
repetition, and does not require/involve understanding. 

2. Conceptual learning refers to learning with understanding attached which is the 
ability to relate new information to prior knowledge. 

3. Conceptual learning is widely used for mastering the foundational knowledge. 
4. A common rote learning technique is preparing quickly for a test, also known as 

cramming. 
Which of the above statements are correct? 
A. 1 and 2 only  B. 1, 2 and 4 only 
C.  2, 3 and 4 only  D. All of the above 

 gpd;tUk; $w;Wfis Ma;f 
1. kddk; nra;jy;> jpUk;g jpUk;g gbj;jy; Nghd;wit Ghpjy; ,d;wp gbj;jYf;Fs; 

mlq;Fk; 
2. Ghpe;J gbj;jy; vd;gJ mwpe;j mwpTld; Gjpa jfty;fis njhlh;GgLj;jp gbj;jy; 

MFk; 
3. Ghpe;J gbj;jy; ngUk;ghYk; mbg;gil fy;tpia ngWtjpy; mikfpwJ.  
4. Ghpjy; ,d;wp gbj;jypd; xU tif Njh;Tf;F tpiuthf Ghpahky; kddk; nra;jy; 
rhpahd $w;Wfis fz;lwpf 
A. 1 kw;Wk; 2 kl;Lk;  B. 1> 2 kw;Wk; 4 kl;Lk; 
C. 2> 3 kw;Wk; 4 kl;Lk; D. ,it midj;Jk; 
 

138. In 1946, Pandit Jawaharlal Nehru introduced and defined the phrase __________ in his 
book Discovery of India and also popularized it by repeatedly using it in his speeches. 
A. Scientific inquisitive  B. Scientific temper 
C. Scientific humanity   D. Scientific humour 
[t`h;yhy;NeU jdJ Discovery of India vd;w E}ypy; ve;j nrhy;iy mwpKfg;gLj;jp 
jdJ vOj;jpYk; Ngr;rpYk; kPz;Lk; kPz;Lk; gad;gLj;jp me;j nrhy;iy gpugygLj;jpdhh;? 
A. mwptpay; tprhuiz  B. tpQ;Qhd kdepiy 
C. mwptpay; kdpjNeak;  D. mwptpay; eifr;Rit 
 

139. Who among the following is not the recipient of Noble Prize 2020? 
A. Andrea Ghez  B. Robert Wilson   
C. Louise Gluck  D. Peter Handke  
gpd;tUgth;fSs; 2020Mk; Mz;L Nehgy; ghpR ngwhjth; ahh;? 
A. Mz;hpah nf];  B. uhgh;l; tpy;rd; 
C. Y}ap]; FSf;  D. gPl;lh; `hd;l;Nf 
 

140. Find out the incorrect pair 
A. A Promised Land – Barack Obama 
B. Joe Biden – 46th President of USA 
C. Kamala Harris – Senator from Georgia 
D. Jenifer Rajkumar – First South Asian Woman elected to the New York 
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jtwhd ,iziaf; fhz;f 
A. A Promised Land – guhf; xghkh 
B. N[h gpld; - 46tJ mnkhpf;f mjpgh; 
C. fkyh `hhp]; - [hh;[pahtpd; ehlhSkd;w cWg;gpdh; 
D. n[dp/gh; uh[;Fkhh; - epa+ahh;f;Ff;F Njh;e;njLf;fg;gl;l Kjy; njw;fhrpa ngz;kzp 

 
141. Choose the incorrect pair. 

A. Indian Reform Association (1870) – Keshab Chandra Sen 
B. Dharma Sabha (1830) – Radhakant Deb 
C. Khudai Khidmatgar Movement (1929) – Sir Syed Ahmed Khan 
D. Seva Sadan (1885) – Behramji M. Malabari 
jtwhd ,iziaf; fhz;f. 
A. ,e;jpa rPu;jpUj;j fofk; (1870) - Nfrt; re;jpu nrd; 
B. ju;k rig (1830) - uhjhfhe;j; Njt; 
C. Fil fpl;kl;fu; ,af;fk; - ru; iraJ mfkJ fhd; 
D. Nrth rjd; (1885) – ng ;̀uhk;[p M. kyghup 

 
142. Who presided over the first session of the All-India Kisan Sabha in 1936? 

A. Swami Sahajanand B. N.G. Ranga 
C. Indulal Yagnik  D. P.C. Joshi 
midj;jpe;jpa tptrhapfs; rigapd; Kjy; $l;lj;ij 1936,y; jiyik jhq;fpatu; 
ahu;? 
A. Rthkp rf[hde;j;  B. N. G. uq;fh 
C.  ,e;Jyhy; ahf;dpf;  D. P. C. N[h~p 

 
143. Choose the incorrect statement. 

A. Lord Metcalfe is known as the Liberator of the Indian Press. 
B. Surendranath Banerjee became the first Indian journalist to be imprisoned in1883. 
C. Amrita Bazar Patrika turned overnight into an English newspaper to escape the 

Vernacular Press Act, 1878. 
D. Madras Courier published in 1868 was the first evening paper in IndiA. 
jtwhd $w;wpidj; Njh;e;njL. 
A. nkl;fhy;/g; gpuG ,e;jpa gj;jphpf;ifapd; tpLjiyahsu; vd mwpag;gLfpwhh;. 
B. 1883-,y; RNue;jpudhj; ghdu;[p rpiwapyilf;fg;gl;l Kjy; ,e;jpa 

gj;jpupf;ifahsuhdhh;. 
C. tl;lhu nkhopr;rl;lk; 1878,y; ,Ue;J jg;gpg;gjw;fhf mkpu;jh g[hu; gj;jpupf;fh xNu 

,utpy; Mq;fpy nra;jpj;jhshf  khwpaJ. 
D. 1868 Mk; Mz;L ntspaplg;gl;l nkl;uh]; $upau; ,e;jpahtpd; Kjy; khiy 

nra;jpj;jhshFk;.  
 
144. Gandhi distinguished his technique of ‘satyagraha’ from the extremist method of 

‘passive resistance’. Which of the following is/are not true about such distinction? 
1. Passive resistance is an act of expediency, while satyagraha is a moral weapon 

based on the superiority of the soul-force over physical force. 
2. Passive resistance is the weapon of the weak, but satyagraha is that of the bravest. 
3. Passive resistance is static, but satyagraha is dynamic. 
4. Passive resistance is negative in approach, but satyagraha is positive in approach. 
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5. Passive resistance aims at weakening the opponent away from error by love and 
patient suffering, while satyagraha aims at embarrassing the opponent into 
submission. 

A. 2 and 3 only B. 5 only C. 1, 2 and 4 only D. All of the above 
fhe;jpabfs; jdJ ‘rj;jpahfpufj;ij’ jPtputhjpfsplkpUe;J ‘nrayw;w vjpu;g;gpy;’ 
NtWgLj;jpdhu;. gpd;tUtdtw;wpy; mj;jifa NtWghLfspy; jtwhdit vit? 
1. nrayw;w vjpu;g;G vd;gJ #o;epiyf;F Vw;w nray;Kiw> mNj Ntisapy; 

rj;jpahfpufk; vd;gJ cly; typikia tplTk; Md;k rf;jpia mbg;gilahf 
nfhz;l jhu;kPf MAjkhFk;. 

2. nrayw;w vjpu;g;G vd;gJ vspatu;fspd; MAjkhFk; Mdhy; rj;jpahfpufk; vd;gJ 
JzpTilaJ. 

3. nrayw;w vjpu;g;G epiyahdJ Mdhy; rj;jpahfpufk; khwf;$baJ. 
4. nrayw;w vjpu;g;G vjpu;kiw mZF KiwahFk; Mdhy; rj;jpahfpufk; Neu;kiw 

mZFKiw. 
5. nrayw;w vjpu;g;ghdJ md;G kw;Wk; Jd;gj;jpYk; epjhdk; Nghd;wtw;why; vjpupia 

Fw;wk; nra;ahJ gytPdg;gLj;Jjy;> mNj Ntisapy; rj;jpahfpufk; vd;gJ vjpupia 
jLkhwr; nra;J gzpar; nra;jyhFk;. 

A. 2 kw;Wk; 3 kl;Lk; B. 5 kl;Lk; C. 1, 2 kw;Wk; 4 kl;Lk; D. Nkw;fz;l midj;Jk; 
 
145. Match the following 

a. Nagpur Session (1920) 1. Changes in the constitution of the Congress 
b. Madras Session (1927) 2. First All India Youth Congress came into being 
c. Calcutta Session (1928) 3. Independence Resolution passed for the first at the  

insistence of Jawaharlal Nehru  
d. Lahore Session (1929) 4. Resolution on Fundamental Rights and   
    National Economic Programme 
e. Karachi Session (1931) 5. Poorna Swaraj Resolution 
 a b c d e  
A.  1 2 3 5 4  
B. 4 2 3 5 1 
C.  1 3 2 5 4 
D. 4 3 2 5 1 
nghUj;Jf 
a. ehf;G+u; mku;T (1920) 1. fhq;fpu]pd; murpayikg;gpy; khw;wk; 
b. nkl;uh]; mku;T (1927) 2. Kjy; mfpy ,e;jpa ,isQu; fhq;fpu]; cUthdJ 
c. fy;fj;jh mku;T 3. Kjyhtjhf [t`u;yhy; NeU typAWj;jpajhy; 

Rje;jpu jPu;khdk; epiwNtw;wg;gl;lJ. 
d. yh$u; mku;T (1929)  4. mbg;gil chpikfs; kw;Wk; Njrpa nghUshjhu jpl;lk;  

njhlh;ghd jPu;khdk; 
e. fuhr;rp mku;T (1931) 5. KOikahd Rauh[;[paj;Jf;fhd jPu;khdk; 

a b c d e  
A.  1 2 3 5 4  
B. 4 2 3 5 1 
C.  1 3 2 5 4 
D. 4 3 2 5 1 

 

146. Which oxide of nitrogen is not a common pollutant introduced into the atmosphere 
both due to natural and human activity? 
A. NO2  B. N2O  C. N2O5  D. NO 
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,aw;if kw;Wk; kdpj nray; ,uz;bdhYk; tspkz;lyj;jpy; cs; GFj;jg;gLk; iel;u[d; 
Mf;irLfSs; vJ xd;W nghJthd khRgLj;jp fpilahJ? 
A. NO2  B. N2O  C. N2O5  D. NO 
 

147. In which disease does mosquito transmitted pathogen cause chronic inflammation of 
lymphatic vessels? 
A. Ascariasis B. Ringworm disease  C. Elephantiasis D. Amoebiasis 
ve;Neha; nfhRtpdhy; flj;jg;gLk; Ez;Zaphpapdhy; epzePh; ehsepfspy; ehs;gl;l mow;rp 
Vw;gLj;JfpwJ? 
A. m];fhhpahrp]; B. hpq;th;k; Neha; C. vyp/Ngd;bahrp]; D. mkPigahrp]; 
 

148. Name the enzyme that facilitates opening of DNA helix during transcription 
A. DNA ligase   B. DNA helicase 
C. DNA polymerase  D. RNA polymerase 
gbnaLj;jypy; B.vd;.V. n`ypf;ir jpwf;f cjTk; nehjp vJ? 
A. B.vd;.V. iyNf];  B. B.vd;.V. n`ypf;Nf]; 
C. B.vd;.V. ghypkNu];  D. Mh;.vd;.V. ghypkNu]; 
 

149. The formal proclamation of Swadeshi Movement was made with the passage of the 
Boycott Resolution in a massive meeting held in the Calcutta Town hall on 
A. August 6, 1905   B. August 7, 1905 
C. August 8, 1905   D. August 9, 1905 
fy;fj;jh muq;fpy; eilngw;w $l;lj;jpy;  RNjrp ,af;fk; Kiwahf gpufldk; 
nra;ag;gl;L Gwf;fzpg;G jPu;khdj;ij Vw;wJ.  ,J vg;NghJ eilngw;wJ? 
A. Mf];L 6> 1905   B. Mf];L 7> 1905 
C. Mf];L 8> 1905   D. Mf];L 9> 1905 

 
150. Choose the incorrect pair. 

A. Komagata Maru Incident – 1914 
B. Kakori Robbery – 1926 
C. Saunders Murder – 1928 
D. Chittagong Armoury Raid – 1930 
jtwhd ,iziaf; fhz;f. 
A. Nfhkfj;jh khU epfo;T – 1914  
B. ff;Nfhup nfhs;is – 1926 
C. rhz;lu;]; nfhiy – 1928   
D. rpl;lfhq; MAjg;gil jhf;Fjy; - 1930 

 
151. Choose the incorrect statement. 

A. Ayyankali was a Dalit social reformer who worked for the advancement of 
deprived, untouchable people in the princely state of Travancore, British India. 

B. Kalaram Temple Movement was launched by Ambedkar in 1930. 
C. Jyotiba Phule and Savitribai started the first indigenously-run school for girls in 

Mumbai. 
D. The Society of Friends was started by Rajaram Mohan Roy in Calcutta. 
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jtwhd $w;wpid Nju;T nra;f. 
A. ma;ad;fhsp xLf;fg;gl;l  r%f rPu;jpUj;jthjp> mtu; Mq;fpNya ,e;jpahtpd; 

jpUtde;jGu khfhzj;jpYs;s xJf;fg;gl;l> jPz;lj;jfhj kf;fspd; 
Kd;Ndw;wj;jpw;fhf cioj;jhu;. 

B. fhyhuhk; Mya ,af;fj;ij mk;Ngj;fhu; 1930Mk; Mz;L njhlq;fpdhu; 
C. N[hjpgh G+Ny kw;Wk; rhtpj;jpup gha; Kk;igapy; ngz;fSf;fhd Kjy; 

jd;dpr;irahf ,aq;Fk; gs;spiaj; njhlq;fpdhu;. 
D. fy;fj;jhtpy; uh[huhk; Nkhfd;uhahy; ez;gu;fs; r%fk; njhlq;fg;gl;lJ. 

 
152. The QRS complex in a standard ECG represents: 

A. Repolarisation of auricles   B. Depolarisation of auricles 
C. Depolarisation of ventricles  D. Repolarisation of ventricles 
xU ,ay;G ECG-apy; QRS $l;likg;G vjidf; Fwpf;fpd;wJ? 
A. Mhpf;fpspd; kpd;Kidg;gpaf;f kPl;rp 
B. Mhpf;fpspd; kpd;Kidg;gpaf;f ePf;fk; 
C. ntz;bhpf;fpspd; kpd;Kidg;gpaf;f ePf;fk; 
D. ntz;bhpf;fpspd; kpd;Kidg;gpaf;f kPl;rp 

 
153. Match the following  

a. Bt cotton     1. Gene therapy 
b. Adenosine deaminase deficiency  2. Cellular defence 
c. RNAi     3. Detection of HIV infection 
d. PCR      4. Bacillus thuringiensis 
 a b c d 
A. 4 1 2 3 
B. 3 2 1 4 
C. 2 3 4 1 
D. 1 2 3 4 
nghUj;Jf 
a. Bt gUj;jp     1. [Pd; rpfpr;if 
b. mbNdird; bmkpNd]; FiwghL  2. nry;tif jw;fhg;G 
c. Mh;.vd;.V. ,ilaPL    3. n`r; I tp njhw;iw fz;lwpjy; 
d. gp.rp.Mh;     4. Ngrpy;y]; Jhpd;[pad;rp]; 
 a b c d 
A. 4 1 2 3 
B. 3 2 1 4 
C. 2 3 4 1 
D. 1 2 3 4 
 

154. Experimental verification of the chromosomal theory of inheritance was done by: 
A. Mendel  B. Sutton  C. Boveri  D. Morgan 
ghuk;ghpaj;jpw;fhd FNuhNkhNrhk; Nfhl;ghl;bd; Nrhjid rhpghh;g;G ,tuhy; elj;jg;gl;lJ: 
A. nkz;ly;  B. rl;ld;  C. nghNthp  D. khh;fhd; 
 

155. An example of scientific knowledge is 
A. Social customs  B. Field Experiment 
C. Religious scriptures D. Social Mores 
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mwptpay; mwpTf;F cjhuzk; _______ 
A. r%f tof;fq;fs;  B. fs Ma;Tfs; 
C. rka E}y;fs;  D. kuG topKiwfs; 
 

156. A page is selected at random from a book. The probability that the digit at units place 
of the page number chosen is less than 7 is 

A. 
3

10
   B. 

7

10
   C. 

3

9
  D. 

7

9
  

xU Gj;jfj;jpy; ,Ue;J rktha;g;G Kiwapy; xU gf;fkhdJ Njh;e;njLf;fg;gLk;NghJ 
me;j gf;fj;jpd; xd;whk; ,yf;fk; 7 I tpl Fiwthf tu epfo;jfT?  

A. 
3

10
   B. 

7

10
   C. 

3

9
  D. 

7

9
  

 
157. The mean and standard deviation of 15 observations are found to be 10 and 5 

respectively. On rechecking it was found that one of the observation with value 8 was 
incorrect. Calculate the correct mean and standard deviation if the correct observation 
value was 23?  
A. 11, 4.6   B. 11, 5.1   C. 11, 5.9  D. 11, 5.3  
15 tptuq;fspd; $l;L ruhrhp kw;Wk; jpl;l tpyf;fk; KiwNa 10 kw;Wk; 5 MFk;. jpUk;g 
rhpghh;f;ifapy; xU tptuj;jpd; kjpg;G 8 vd;gJ jtwhf vLf;fg;gl;Ls;sJ vd 
njhpate;jJ. mjd; rhpahd kjpg;G 23 vdpy; rhpahd ruhrhp kw;Wk; jpl;ltpyf;fk; fhz;. 
(Njhuhakhf)  
A. 11, 4.6   B. 11, 5.1   C. 11, 5.9  D. 11, 5.3  
 

158. Simplify: ( ) ( )9 68 6 63 175 28 + − +  

A. ( )
1

32
3

  B. ( )
1

42
3

  C. 6 2
3

  D. 9 2
3

 

RUf;Ff: ( ) ( )9 68 6 63 175 28 + − +  

A. ( )
1

32
3

  B. ( )
1

42
3

  C. 6 2
3

  D. 9 2
3

 

 
159. If (x + 5) and (x – 3) are factors of ax2 + bx + c, then value of a, b, c are  

A. 1, 2, 3   B. 1, 2, 15  C. 1, 2, -15   D. 1, -2, 15  
ax2 + bx + c vd;w Nfhitf;F (x + 5)  (x – 3) fhuzpfs; vdpy; a, b, c d; kjpg;G  
A. 1, 2, 3   B. 1, 2, 15  C. 1, 2, -15   D. 1, -2, 15  
 

160. In a right angle triangle, angles are in the ratio 30° : 60° : 90° then the sides are in the 
ratio  

A. 1 : 3 : 2   B. 1 : 2 : 3  C. 3  : 1 : 2   D. 1 : 3 : 2  

xU nrq;Nfhz Kf;Nfhzj;jpd; Nfhzq;fspd; tpfpjq;fs; 30° : 60° : 90° vdpy; mtw;wpd; 
gf;fq;fspd; tpfpjk;  

A. 1 : 3 : 2   B. 1 : 2 : 3  C. 3  : 1 : 2   D. 1 : 3 : 2  
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161. Soumitra Chatterjee who passed away recently was the legend in the field of ________ 
A. Medicine  B. Literature  C. Science  D. Cinema  
rkPgj;jpy; fhykhd nrskpj;u rl;lh;[p ve;j Jiwiar; rhh;e;jth;? 
A. kUj;Jtk;  B. ,yf;fpak;  C. mwptpay;  D. jpiuj;Jiw 
 

162. Name the country which launched world’s first 6G satellite namely “UESTC Satellite” 
(Star Era 12) into the orbit? 
A. USA  B. Japan  C. China  D. France 
“UESTC nraw;ifNfhs;” (Star Era 12) vdg;gLk; cyfpd; Kjy; 6G nraw;ifNfhis 
tpz;zpy; Vtpa ehL vJ? 
A. mnkhpf;fh  B. [g;ghd;  C. rPdh  D. gpuhd;R 
 

163. Consider the following statements 
I. Justice P. Kalaiyarasan committee recommended for internal reservation for 

Government School Student in Medical admissions through NEET in 
Tamilnadu 

II. Tamilnadu assembly passed a resolution for 7.5% internal reservation to 
government students on 16th September  

A. I only correct B. II only correct  
C. Both are correct D. Both are incorrect 
gpd;tUk; $w;Wfis Ma;f 
I. jkpo;ehl;by; ePl; Njh;T vOjp Njh;thFk; khzth;fSf;F kUj;Jt fy;Y}}p 

Nrh;f;ifapy; cs; ,lxJf;fPl;il ePjpaurh; P. fiyaurd; FO ghpe;Jiu nra;jJ.  
II. nrg;lk;gh; 16Mk; Njjp muR khzth;fSf;F 7.5% cs; ,lxJf;fPL 

toq;Ftjw;fhd jPh;khdj;ij jkpo;ehL rl;lkd;wk; epiwNtw;wpaJ 
A. I kl;Lk; rhp  B. II kl;Lk; rhp   
C. ,uz;Lk; rhp D. ,uz;Lk; jtW 

 
164. What is rank of India in HDI Index 2019? 

A. 129  B. 131  C. 127  D. 132 
kdpjts Nkk;ghl;L FwpaPL 2019,y; ,e;jpahtpd; epiy _______ 
A. 129  B. 131  C. 127  D. 132 
 

165. Who headed the VGIR Summit 2020? 
A. Vice President   B. Prime Minister 
C. Home Minister   D. Minister for Education 
VGIR khehl;bw;F jiyik jhq;fpath; ahh;? 
A. Jiz FbauRj;jiyth;  B. gpujkh; 
C. cs;Jiw mikr;rh;  D. fy;tp mikr;rh; 
 

166. Indian launched Mission SAGAR to assist Island Nations in the ________ 
A. Eastern Indian Ocean  B. Western Indian Ocean 
C. Southern Indian Ocean  D. None of these 
ve;j gFjpapy; cs;s jPT ehLfSf;F cjTtjw;fhf ,e;jpah SAGAR vDk; jpl;lj;ij 
Jtf;fpAs;sJ? 
A. fpof;fpe;jpa ngUq;fly;  B. Nkw;fpe;jpa ngUq;fly; 
C. njw;fpe;jpa ngUq;fly;  D. ,it VJkpy;iy 
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167. Consider the following statements. 
I. Monolithic Rathas    - Rajasimhan  style 
II. Kailasanatha temple  - Rajasimheswaram 
III. Vaikunda Perumal temple - Nandivarman style  
IV. Bragadeshwarar temple  - Raja Rajeshwaram 
A. I, II and IV are correct  B. II, III and IV are correct 
C. II and IV are correct  D. III and IV are correct 
gpd;tUk; $w;Wfisf; ftdp 
I. xw;iwf;fy; ,ujq;fs;  - ,uh[rpk;kd; ghzp 
II. ifyhrehjh; Nfhapy;  - ,uh[rpk;Nk];tuk; 
III. itFz;l ngUkhs; Nfhapy; - ee;jpth;kd; ghzp 
IV. gpufjP];tuh; Nfhapy;  - ,uh[uhN[];tuk; 
A. I, II, IV rhp  B. II, III, IV rhp  C. II, IV rhp  D. III, IV rhp 

 
168. Consider the following statements about Keezhadi excavation. 

I. Village located in Madurai district. 
II. Excavation site – Pallichandhai Thidal. 
III. Konthagai, Keezhadi and Manalur – Ancient places of rural settlement 
IV. Recently Government of India approved for 6th phase of excavation. 
A. II only correct   B. II and IV are correct 
C. II, III and IV are correct  D. All are correct 
fPob mfo;thuha;r;rp njhlh;ghd gpd;tUk; $w;Wfis Ma;f. 
I. ,e;j fpuhkk; kJiu khtl;lj;jpYs;sJ. 
II. mfoha;T ,lk; - gs;spr;re;ij jply; 
III. nfhe;jif> fPob> kzY}h; - goq;fhy fpuhkg;Gw FbNaw;w gFjpfs; 
IV. rkPgj;jpy; ,e;jpa muR 6 Mk; fl;l mfoha;Tf;F mDkjp mspj;Js;sJ. 
A. II kl;Lk; rhp    B. II kw;Wk; IV rhp 
C. II, III kw;Wk; IV rhp   D. midj;Jk; rhp 
 

169. Consider the following statements regarding Hero stones. 
I. Hero stones of Sangam Age discovered till now do not have images or 

sculptures. 
II. Hero stones of Post – Sangam Age have inscriptions and images of heroes 
A. I only correct   B. II only correct 
C. Both I and II are correct  D. Both I and II are wrong 
eLfw;fs; gw;wpa gpd;tUk; $w;Wfis Ma;f. 
I. ,Jtiu fz;lwpag;gl;Ls;s rq;ffhy eLfw;fspy; cUtNkh my;yJ rpw;gNkh 

fhzg;gltpy;iy. 
II. rq;fk; kUtpa fhy eLfw;fspy; fy;ntl;Lfs; kw;Wk; tPuh;fspd; cUtq;fs; 

fhzg;gLfpd;wD. 
A. I kl;Lk; rhp  B. II kl;Lk; rhp  C. I, II rhp  D. I, II jtW 
 

170. Which among the following is the immediate cause for Vellore Mutiny? 
A. The sepoys were asked to shave the beard 
B. Racial prejudice 
C. Wearing of religious marks on forehead is banned 
D. Agnew’s Turban 
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gpd;tUtdtw;Ws; NtY}h; Gul;rpf;fhd cldbf; fhuzk; vJ? 
A. rpg;gha;fs; mth;fSila jhbfis kopj;Jf;nfhs;SkhW mwpTWj;jg;gl;ldh;. 
B. ,d ghugl;rk; 
C. new;wpapy; rkaf; FwpaPLfs; mzpa jil 
D. mf;dPA njhg;gpfs; 

 
171. Choose the correct pair. 

A. Battle in Odanilai – 1803   B. Battle in Arachalur – 1805 
C. Battle on Cauvery bank – 1801  D. Chinnamalai hanged – 1806 
rhpahd ,iziaj; Njh;e;njL 
A. Xlhepiyg; Nghh;   - 1803 
B. mur;rY}h; Nghh;   - 1805 
C. fhtphpf;fiuapy; Nghh;  - 1801 
D. rpd;dkiy J}f;fpyplg;gLjy; - 1806 

 
172. Central Administrative Tribunal was 

1. Established under the provisions of Article 323 of the India Constitution  
2. Set up by an order of the President of India 
3. Set up in 1985 
4. Set up by an Act of Parliament 
A. 3 and 4 only B. 1,3 and 4 only C. 1,2 and 3 only D. 2 and 3 only 
kj;jpa eph;thf jPh;g;ghakhdJ 
1. ,e;jpa murpayikg;gpd; rl;lf;$W 323d; gb njhlq;fg;gl;lJ. 
2. FbauRj; jiythpd; fl;lisf;fpzq;f epWtg;gl;lJ. 
3. 1985 ,y; epWtg;gl;lJ. 
4. ghuhSkd;w rl;lj;jhy; epWtg;gl;lJ. 
A. 3> 4 kl;Lk;  B. 1> 3> 4 kl;Lk; C. 1> 2> 3 kl;Lk; D. 2> 3 kl;Lk;  

 
173. Choose the incorrect statements of the provisions of the 74th Constitutional 

Amendment act on municipalities. 
1. Ward Committees, for wards with population of two lakhs. 
2. A Municipal Council for Smaller urban Area. 
3. The 12th Schedule contains 18 functional items for the municipalities. 
A. 3 and 4 only   B. 1,3 and 4 only 
C. 1 only    D. 2, 3 and 4 only 
efuhl;rpfSf;fhd 74tJ murpaikg;G rl;lj;jpUj;jj;jpd; mk;rq;fs; njhlh;ghd rhpahd 
$w;Wfs; vit? 
1. ,uz;L yl;rk; kf;fs; njhif nfhz;l thh;Lfspy; thh;L FO Vw;gLj;jg;gl;lJ. 
2. efuhl;rp fTd;rpy;fs; rpwpa efug;gFjpfSf;fhdJ 
3. 12tJ ml;ltiz efuhl;rpf;fhd 18 nray;ghL fhuzpfis nfhz;Ls;sJ. 
A. 3> 4 kl;Lk;  B. 1> 3> 4 kl;Lk; C. 1 kl;Lk;  D. 2> 3> 4 kl;Lk; 
 

174. The Zonal Councils have been established by 
A. Zonal Councils Act   B. An order of the President of India 
C. Article 263 of the Constitution D. States Reorganization Act 
kz;ly fTd;rpy;fs; vjd;%yk; Vw;gLj;jg;gl;ld? 
A. kz;ly fTd;rpy;fs; rl;lk;  B. FbauRj; jiythpd; Miz 
C. murpayikg;gpd; rl;lf;$W 263 D. khepy kWrPuikg;G rl;lk; 
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175. The Protection of Human Rights Act of 1993 provides for the creation of  
1. National Human Rights Commission 
2. State Human Rights Commission 
3. Joint State Human Rights Commission 
4. Human Rights Courts 
A. 1 and 2 only   B. 1,2 and 4 only 
C. 1, 2 and 3 only   D. All the above 
kdpj chpikfs; ghJfhg;G rl;lk; 1993 MdJ vtw;iw cUthf;f Vw;ghL nra;fpwJ? 
1. Njrpa kdpj chpikfs; Mizak; 
2. khepy kdpj chpikfs; Mizak; 
3. $l;L khepy kdpj chpikfs; Mizak; 
4. kdpj chpik ePjpkd;wq;fs; 
A. 1> 2 kl;Lk;    B. 1> 2> 4 kl;Lk; 
C. 1> 2> 3 kl;Lk;   D. Nkw;fz;l midj;Jk; 

 
176. Who among the following was the Deputy Chairman of Planning Commission of 

India? 
A. H.C.Mukherjee   B. K.M.Munshi 
C. V. T. Krishnamachari  D. C. Rajagopalachari 
,e;jpa jpl;lf; FOtpd; Jizj; jiyth; ahh;? 
A. H.C. Kfh;[p    B. K.M.Kd;~p 
C. V. T. fpU~;zkhr;rhhp  D. C. uh[Nfhghyhr;rhhp 

 
177. Which of the following statements about Dunkel Draft is/are correct? 

1. It is mandatory for the Government of India to accept all its proposals in all the 
sectors. 

2. In the field of agriculture, the main proposal is to cut Agricultural subsidies. 
3. In the field of textiles, it reiterates the operation of the multifiber agreement. 
4. The proposals have already been accepted by the parliament. 
A.  1 and 2 only B. 3 and 4 only  C. 1 only D. 1,2 and 4 only 
lq;fy; tiuT njhlh;ghd gpd;tUk; $w;Wfspy; rhpahdit vit? 
1. midj;J JiwfspYk; ,jd; jpl;lj;ij ,e;jpa murhq;fk; Vw;f Ntz;baJ 

fl;lhakhFk;. 
2. Ntshz; Jiwapy;> Ntshz; khdpaq;fis epWj;JtJ Kjd;ik jpl;lkhFk;. 
3. [Tspj; Jiwapy;> ,J gy,io xg;ge;j nray;ghl;il kPz;Lk; typAWj;JfpwJ.  
4. ,e;j jpl;lk; ghuhSkd;wj;jhy; Vw;fdNt Vw;Wf;nfhs;sg;gl;Ls;sJ.   
A.  1 kw;Wk; 2 kl;Lk; B. 3 kw;Wk; 4 kl;Lk; C. 1 kl;Lk; D. 1,2 kw;Wk; 4 kl;Lk; 

 

178. Choose the incorrect pair. 
A. Silver Fibre revolution – Egg  B. Golden revolution – Horticulture 
C. Brown revolution – Leather  D. Pink revolution – Pharmaceutical 
jtwhd ,iziaf; fhz;f: 
A. nts;sp ,iog; Gul;rp – Kl;il  B. jq;f Gul;rp – Njhl;lg;gaph;fs; 
C. gOg;G Gul;rp – Njhy; nghUl;fs;  D. ,sQ;rptg;G Gul;rp – kUe;J 

 

179. Match the following 
a. Kodumanal   1. Chengalpet 
b. Adhichanallur  2. South Arcot 
c. Sangamedu   3. Tuticorin 
d. Amirthamangalam  4. Erode 
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 a b c d 
A. 4 3 1 2 
B. 4 3 2 1 
C. 2 4 3 1 
D. 1 3 4 2 
nghUj;Jf. 
a. nfhLkzy;   1. nrq;fy;gl;L 
b. Mjpr;rey;Y}h;  2. njd; Mw;fhL 
c. rq;fNkL   3. J}j;Jf;Fb 
d. mkph;jkq;fyk;  4. <NuhL 
 a b c d 
A. 4 3 1 2 
B. 4 3 2 1 
C. 2 4 3 1 
D. 1 3 4 2 

 
180. Velurpalayam Plates speaks about 

A. Nandi Varman-III  B. Narasimma Varman-II 
C. Nandi Varman  D. Mahendra Varman 
NtY}h;ghisak; nrg;NgLfs; ahiug;gw;wp $Wfpd;wd? 
A. %d;whk; ee;jpth;kd;  B. ,uz;lhk; eurpk;kth;kd; 
C. ee;jp th;kd;   D. kNfe;jputh;kd; 

 
181. Which among the following chapter of Thirukkural deals with Veracity? 

A. Chapter XX  B. Chapter XXV C. Chapter XXX D. Chapter XXXV 
jpUf;Fwspy; fPo;fhZk; ve;j mjpfhuk; tha;ikia gw;wp $WfpwJ? 
A. mjpfhuk; XX B. mjpfhuk; XXV C. mjpfhuk; XXX D. mjpfhuk; XXXV 

 
182. Temple entry was observed on ______ 

A. Dec 22, 1939 B. Jan 8, 1933  C. Aug 16, 1946 D. Aug 8, 1932 
Mya EioT Nghuhl;lk; vg;NghJ elj;jg;gl;lJ? 
A. brk;gh; 22> 1939 B. [dthp 8> 1933 C. Mf];L 16> 1946 D. Mf];L 8> 1932 

 

183. Consider the following statement regarding Madras Mahajana Sabha 
I. Started on May 16, 1884 
II. Demanded conduct of simultaneous Civil services exam in England and India 
III. Agitated against torture of peasants by revenue officials. 
A. I and II are correct, III is incorrect  B. II and III are correct, I is incorrect 
C. I and III are correct, II is incorrect  D. All are correct 
nkl;uh]; kfh[d rig gw;wpa gpd;tUk; $w;Wfis Ma;f. 
I. Nk 16> 1884 ,y; njhlq;fg;gl;lJ. 
II. xNu rkaj;jpy; ,q;fpyhe;J kw;Wk; ,e;jpahtpy; Fbikg; gzp Njh;Tfis 

elj;JkhW Nfhhpf;if itj;jJ. 
III. tUtha; mjpfhhpfs; tptrhapfis Jd;gg;gLj;Jtjw;F vjpuhf fpsh;r;rp 

nra;jdh;. 
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A. I, II rhp, III jtW  B. II, III rhp, I jtW 
C. I, III rhp, II jtW  D. midj;Jk; rhp 

 

184. Match the following. 
a. Jhum   1. Kerala 
b. Podu   2. Madhya Pradesh 
c. Beera   3. Andhra Pradesh 
d. Ponam   4. Assam 
 a b c d 
A. 4 3 2 1 
B. 2 1 4 3  
C. 4 1 2 3 
D. 2 3 4 1 
nghUj;Jf: 
a. [Pk;   1.Nfush 
b. nghL   2.kj;jpa gpuNjrk; 
c. gPuh   3.Me;jpu gpuNjrk; 
d. nghd;dk;  4.mrhk; 
 a b c d 
A. 4 3 2 1 
B. 2 1 4 3  
C. 4 1 2 3 
D. 2 3 4 1 

 
185. Choose the incorrect pair 

A. Orissa Super Cyclone – 1998  B. Gujarat Earthquake – 2001 
C. Indian Ocean Tsunami – 2004  D. Kashmir Earthquake – 2005 
jtwhd ,iziaf; fhz;f: 
A. xhprh #g;gh; Gay; – 1998   B. F[uhj; epyeLf;fk; – 2001 
C. ,e;jpag; ngUq;fly; Rdhkp – 2004  D. fh~;kPh; epyeLf;fk; – 2005  

   
186. Choose the correct statements. 

1. It is estimated that India possesses 8000-9000 MW of tidal energy potential. 
2. India has the fourth largest installed wind power capacity in the worlD. 
3. Andhra Pradesh, Gujarat, Rajasthan, Maharashtra and Madhya Pradesh are the 

major solar power producers. 
4. India has a potential of about 18 GW of energy from Biomass. 
A. 1, 2 and 3 only   B. 2, 3 and 4 only 
C. 1, 2 and 4 only   D. All the above 
rhpahd $w;iwf; fz;lwpf: 
1. ,e;jpahtpy; 8000 – 9000 MW msT Xj miy Mw;wy;tsk; ,Ug;gjhf 

kjpg;gplg;gl;Ls;sJ. 
2. ,e;jpah cyf mstpy; ehd;fhtJ kpfg;nghpa fhw;whiy Mw;wy; nfhz;l ehlhFk;. 
3. Me;jpug;gpuNjrk;> F[uhj;> uh[];jhd;> kfhuh~;buh> kj;jpa gpuNjrk; Mfpait kpf 

mjpfstpy; #hpa xsp kpd;rhuj;ij cw;gj;jp nra;fpd;wD.  
A. 1, 2 kw;Wk; 3 kl;Lk;   B. 2, 3 kw;Wk; 4 kl;Lk; 
C. 1, 2 kw;Wk; 4 kl;Lk;   D. Nkw;fz;l midj;Jk;  
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187. Consider the following statement regarding second Backward Class Commission of 
IndiA. 
I. Second Backward Class Commission was established in 1979 under    B. B. 

Mandal. 
II. Commission identified 3743 Caste as Backward  
III. Commission recommended 27% Reservation for Backward Class 
IV. Commission recommended 10% Reservation for economically weaker section 

 A. I and II are correct   B. I, II and III are correct  
 C. I and III are correct   D. All are correct 

,e;jpahtpd; ,uz;lhtJ gpw;gLj;jg;gl;Nlhh; Mizak; njhlh;ghd $w;Wfis Ma;f. 
I. ,uz;lhtJ gpw;gLj;jg;gl;Nlhh; Mizak; B.B. kz;ly; jiyikapy; 1979-,y; 

cUthf;fg;gl;lJ. 
II. ,e;j Mizak; 3743 tFg;Gfis gpw;gLj;jg;gl;Nlhh; vd milahsk; fz;lJ. 
III. gpw;gLj;jg;gl;NlhUf;F vd 27 rjtPj ,l xJf;fPil ghpe;Jiuj;jJ. 
IV. nghUshjhuj;jpy; eypTw;w gphptpdUf;F (EWS) 10% ,lxJf;fPil ,J 

gupe;Jiuj;jJ. 
A. I, II rhp  B. I, II, III rhp  C. I, III rhp  D. midj;Jk; rhp

  
188. Consider the following statements regarding Vaikunda Swamigal. 

I. His original name was Mudichudum Perumal. 
II. His cult was known as Ayya Vazhi 
III. His teachings were compiled as a text called Akila Thirattu Ammanai 
IV. Arul Nool is a supplement to Akila Thirattu Ammanai. 
A. I, II and III are correct  B. II only correct  
C. I and II are correct   D. All are correct 
itFz;l Rthkpfs; njhlh;ghd gpd;tUk; $w;Wfis Ma;f. 
I. ,tuJ ,aw;ngau; Kb#Lk; ngUkhs; 
II. ,tUila topghl;L Kiwfs; ma;ah top vdg;gLk;. 
III. ,tUila jj;Jtq;fspd; njhFg;G ‘mfpyj; jpul;L mk;khid’ 

vd;wiof;fg;gLfpwJ. 
IV. mUs; E}y; vd;gJ ‘mfpy jpul;L mk;khid’ vd;Dk; E}ypd; Jiz E}yhFk;. 
A. I, II, III rhp  B. II kl;Lk; rhp  C. I, II rhp  D. midj;Jk; rhp 

 
189. Consider the following statements regarding Iyodyadasar.  

I. His weekly journal is Oru Paisa Tamilan started in 1907 
II. He called Untouchables as Sathi Petham atra Dravidar 
III. Dravida Pandian magazine was launched by Rettamalai Srinivasan 
A. II and III are correct B. I and III are correct  
C. I and II are correct  D. All are correct 
mNahj;jpjhrh; njhlh;ghd gpd;tUk; $w;Wfis Ma;f. 
I. 1907 Mk; Mz;L ,tuJ xU igrh jkpod; thu ,jo; ntspahdJ. 
II. ,th; jPz;lj;jfhNjhiu rhjp Ngjkw;w jpuhtplh; vd mioj;jhh;. 
III. jpuhtpl ghz;bad; vDk; gj;jphpf;ifiaj; njhlq;fpath; ,ul;ilkiy =dpthrd; 
A. II, III rhp  B. I, III rhp  C. I, II rhp  D. midj;Jk; rhp 
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190. Choose incorrect pair. 
I. Samarasa Vedha Sanmarga Sangam – 1865 
II. Sathya Dharma Salai – 1872 
III. Sathya Gnana Sabha – 1867 
A. II only  B. II and III  C. I only  D. I, II and III  
jtwhd ,iziaf; fhz;f. 
I. rkur Ntj rd;khh;f;f rq;fk; - 1865 
II. rj;jpa jUk rhiy – 1872 
III. rj;jpa Qhd rig – 1867 
A. II kl;Lk;  B. II, III  C. I kl;Lk;  D. I, II, III 

 
191. Tamil Nadu Government following 

A. Targeted Public Distribution System 
B. Revamped Targeted Public Distribution System 
C. Universal Public Distribution System 
D. None of the above 
jkpo;ehL murhy; gpd;gw;wg;gLtJ 
A. ,yf;F Nehf;fpa nghJ toq;fy; Kiw 
B. GJg;gpf;fg;gl;l ,yf;F Nehf;fpa nghJ toq;fy; Kiw 
C. midtUf;Fkhd nghJ toq;fy; Kiw 
D. Nkw;fz;l VJkpy;iy 

 
192. Choose incorrect pair 

A. Tamil Nadu Scavengers Welfare Board – 2007 
B. Tamil Nadu Narikoravar Welfare Board – 2008 
C. Tamil Nadu Transgender’s Welfare Board – 2008 
D. Tamil Nadu Agricultural Workers welfare Board – 2009 
jtwhd ,iziaf; fhz;f. 
A. jkpo;ehL Jg;Guthsh; ey thpak; - 2007 
B. jkpo;ehL ehpf;Fwth; ey thhpak; - 2008 
C. jkpo;ehL jpUeq;ifah; ey thhpak; - 2008 
D. jkpo;ehL Ntshz;Jiwg; gzpahsh;fs; ey thhpak; - 2009 

 
193. Consider the following statements. 

I. Social security is an essential requirement of social justice. 
II. Tamil Nadu is a front runner in implementation of social security schemes. 
A. I only correct   B. II only correct  
C. Both I and II are correct  D. Both I and II are wrong 
gpd;tUk; $w;Wfis Ma;f. 
I. r%f ePjpia mila r%f ghJfhg;G vd;gJ ,d;wpaikahj xd;W. 
II. r%f ghJfhg;G jpl;lq;fis eilKiwg;gLj;Jtjpy; jkpo;ehL Kjd;ikahf 

jpfo;fpwJ 
A. I kl;Lk; rhp  B. II kl;Lk; rhp  C. I, II rhp  D. I, II jtW 

 
194. The changing agent of the society is 

a. Labourer   b. Entrepreneur 
c. Wholesaler   d. Trader 
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‘rKjha khw;wk; fhZk; Kfth;’ vdg;gLgth; ahh;? 
A. ciog;ghsh;;   B. njhopy; KidNthh; 
C. nkhj;j tzpfh;  D. tzpfh;   

 
195. Author R. Kannan, in his book Anna: The life and times of C. N. Annadurai, had called 

______ as the father of Mid-day meal programme. 
A. P. Thiyagaraya Chetty  B. Subburayulu Reddiar 
C. K. Kamaraj    D. M. G. Ramachandran 
Mrphpah; R. fz;zd; mtUila “Anna: The life and times of C.N. Annadurai” vd;w 
Gj;jfj;jpy; kjpa czTj; jpl;lj;jpd; je;ij vd ahiu miof;fpwhh;. 
A. P. jpahfuha nrl;b   B. Rg;gpuhaY nul;bahh; 
C. K. fhkuh[;    D. M.G. ,uhkr;re;jpud; 
 

196. The sides of the triangular ground are 22m, 120m, 122m. Find the area of the ground.  
A. 1100  B. 1210  C. 1430  D. 1320  
xU Kf;Nfhz tbt epyj;jpd; gf;fq;fs; KiwNa 22kP> 120 kP> 122 kP vdpy; me;epyj;jpd; 
gug;G?  
A. 1100  B. 1210  C. 1430  D. 1320  
 

197. P and Q can do a piece of work in 12 days and 15 days respectively. P started the work 
alone and then, after 3 days Q joined him till the work was completeD. How long did 
the work last? 
A. 3 days   B. 6 days   C. 5 days   D. 8 days  
P kw;Wk; Q KiwNa xU Ntiyia 12 ehl;fs; kw;Wk; 15 ehl;fspy; Kbg;gh;. P vd;gth; 
me;j Ntiyia njhlq;fp %d;W ehl;fSf;F gpwF Q Nrh;e;J mt;Ntiyia 
Kbf;fpd;wdh; vdpy;> vt;tsT ehl;fs; me;j Ntiyia KOtJkhf Kbf;f 
MfpapUf;Fk;?  
A. 3 ehl;fs;   B. 6 ehl;fs;  C. 5 ehl;fs;  D. 8 ehl;fs;  
 

198. Find the rate of compound interest at which a principal becomes 1.69 times itself in 2 
years. 
A. 13%   B. 23%  C. 27%  D. 30%  
$l;L tl;bKiwapy; ,uz;L Mz;Lfspy;> nkhj;j njhifahdJ mriyg;Nghy 1.69 
klq;F vdpy; tl;btPjk; vd;d?  
A. 13%   B. 23%  C. 27%  D. 30%  
 

199. Divide Rs. 350 among P, Q, R such that P gets 50% of what Q gets and Q gets 50% of 
what R gets?  
A. 100, 200, 50  B. 200, 125, 25  C. 50, 100, 200  D. 75, 125, 150  
R vd;w egh; ngWtjpy; 50% I Q vd;w egUk; Q ngWtjpy; 50% I P vd;w egUk; 
ngWkhW P, Q, R vd;w %d;W egh;fSf;F & 350 I gphpf;fTk;.  
A. 100, 200, 50  B. 200, 125, 25  C. 50, 100, 200  D. 75, 125, 150  
 

200. Complete the given series  
23, 34, 47, 62, 79, ?  
A. 93   B. 102  C. 98  D. 107 
nfhLf;fg;gl;Ls;s njhliu epiwT nra;f.  
23, 34, 47, 62, 79, ?  
A. 93   B. 102  C. 98  D. 107 
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